Munucrepcrso o0pazoBanns U Hayku PecnyOimku Xakacusi

I'ocynapcrBeHHoe 010/1:KeTHOE NPO(decCHOHAIBLHOE
oOpa3oBaTesibHOe yupexaenue Pecnyosuku Xakacust
«YepHOTrOpCcKMid TOPHO-CTPOUTEIBHBIH TEXHUKYM))

KOMIIVIEKT KOHTPOJIbBHO-OLIEHOYHBIX CPEACTB
JIJISI OEHKU PE3YJIbTATOB OCBOEHMSI YYEFHOM
JIACOUIIJIMHBI CT.02 THOCTPAHHBIN S3BIK B
IMPOD®PECCHUOHAJBHOM JEATEJIbHOCTH no
cneunajabHocT 21.02.19 «3emiieycTpoiicTBoO»

KOMILJIEKT KOHTPOJIbHO-OIIEHOYHBIX CPEJICTB
NIJISI OIIEHKHU PE3YJbTATOB OCBOEHMUSI
YUYEBHOW JUCHUIIJIUHBI CT.02 THOCTPAHHBIN S13bIK B MIPO®ECCUOHAJBHOM
NESTEJBHOCTH
no cnenuajbHoct 21.02.19 «3emiteycTpoiicTBo»

2023



I. HacnopT KOMILVIEKTA KOHTPOJbHO-0LHCHOYHbIX CPEACTB

1.1. O6aacTh NPUMEHEHUS KOMILJIEKTA KOHTPOJIbHO-0LIEHOYHBIX CPe/ICTB

KoMIiekT KOHTPOIBHO-OIIEHOYHBIX CPEACTB MPETHA3HAYEH IS OIICHKU PEe3yIbTaToOB
oOpa3zoBaTeIbHbIX TOCTHXEHUU ydeOHoM muctumuinabl CI'.02 MHOCTpaHHBIN S3BIK B
poheCCUOHAIBHON JIeITeIbHOCTH (aHTJIUHACKUN).
KoMIIIeKT KOHTPOJIBHO-OIICHOUHBIX CPEACTB CONCPKHUT 3aJaHusl ISl TPOBEICHUS
TEKYIIET0 KOHTPOJIS U MPOMEKYTOYHON aTTecTanuu B ¢opme auddhepeHInpoOBaHHOTO

3a4cTa.

1.2. Pe3yabTaThl 0CBOCHHMS AUCHHILIMHBI, OJIeKAIIHE MIPOBEPKe
B pesynprare ocBoeHust ydeOHOW aucumiuinHel CI'.02 HWMHOCTpaHHBIN SI3BIK B
npo(EeCCUOHANIBHON AEATENbHOCTA (QHIVIMICKUN) 0O0ydYaromuics IOJDKeH o01anaTh

npenycmorpeHaeiMu - PI'OC
CIEAYIOIIMMU  YMEHUSAMU,
KOMITETCHIIMSIMU:

1o
3HAHUSIMHU,

CIIEIUATIbHOCTH
o0IIMMH u

21.02.19 3emneycTpoucTBO
npodeCCUOHATIbHBIMU

Pe3yabTaThl 00yueHus:
YMeHHsl, 3HaAHUs, 0011e 1
npodeccuoHAIbHbIE
KOMIIeTeH MM

IToka3aTeau olleHKH
pe3yjabTara

(DopMa KOHTPOJISI 1 OLICHUBAHUA

¥Y1- noHnMaTh OOIIMI CMBICIT
YEeTKO MPOU3HECEHHBIX
BBICKA3bIBAaHUM HA U3BECTHEIC
TeMbl (IpodeccoHaIbHbIE U
OBITOBBIE), TOHUMATh TEKCThI HA
6a3oBble MpodeccHoHaTbHbIE
TEMBI

JleMoHCTpauusi yMeHust
TTOHUMATb OOIIHI CMBICIT
YETKO MPOU3HECEHHBIX
BBICKa3bIBaHUI Ha
W3BECTHBIE TEMBI
(mpodeccroHanbHbIE U
OBITOBBIC), TIOHUMATh
TEKCTHI Ha Oa30BbIE
npo¢ecCuOHANTBHBIE TEMBI

TectupoBanue, yCTHBIN OIIPOC,
JKCTEPTHOE HAOIIIOICHHE
BBINOJIHEHMSI 3alaHUI Ha
MPaKTUYECKUX 3aHATHUSIX,

Qg epeHIIMPOBAHHBIN 3a4eT

¥2- yyacTBOBaTH B IMaiorax Ha
3HAKOMBIE 00IIHe U
npo¢eCcCuOHATBHBIC TEMBI

JleMoHCTpanys yMeHus
y4acTBOBATh B IMAJIOTax
Ha 3HaKOMbIe 0011Iue 1
npogeccuOHaIbHBIE TEMbI

TectupoBanue, yCTHBIN OIIPOC,
JKCIIEPTHOE HAOII0IeHHE
BBITIOJTHEHUS 3a/IaHUH Ha
MIPAKTUYECKUX 3aHATHUSAX,

Qg depeHIIMPOBaHHBIN 3a4eT

Y3 - cTpouTh NpoCTHIE
BBICKA3bIBAHUSA O ceO€ 1 0 CBOEH
npodeccuoHaTFHON
JESITeITbHOCTH

JleMOHCTpUpOBATh yMEHUE
CTPOUTH IIPOCTEIE
BBICKa3bIBaHUs O cebe U 0O
cBoel mpodeccruoHamTbHON
JESITeITbHOCTH

TectupoBanue, yCTHBIN OIIPOC,
IKCTIEPTHOE HAOIIIOICHHE
BBINIOJIHEHUS 33JaHUH Ha
MPaKTUYECKUX 3aHATHUSX,

b depeHIIMPOBaHHBIN 3a4eT

¥Y4- kpatko 000CHOBBIBATh U
OOBSICHUTH CBOM JICHCTBHSA
(Texkyuue U MniaHupyemble)

JleMOHCTpHUpOBaTh YMEHHE
KpaTKo 000CHOBBIBATh U
OOBSICHUTH CBOU JACHCTBUSA
(Texyiue u
IJIAHUPYEMBIE)

TectupoBanue, yCTHBIN ONIPOC,
JKCIIEPTHOE HAOII0IeHHE
BBITIOJTHEHUS 33JaHUI Ha
MPAKTUYECKHUX 3aHATHUSAX,
mQdepeHIIMPOBaHHBIN 3a4eT

¥Y'S- nucath poCThIEC CBA3HBIE
cOOOIIEeHNs HAa 3HAKOMBIE WIH
HUHTEPECYIOLIHE
npo¢eCCuOHATBHBIC TEMBI

JIeMOHCTpHUpPOBATh YMEHHUE
MUCaTh NPOCTHIE CBSI3HBIE
COOOIIEeHHUsT HA 3HAKOMBIS
WM UHTEPECYIOIIHe
npo¢eCcCHOHATBHBIC TEMBI

TectupoBanue, yCTHBIN OIIPOC,
JKCTIEPTHOE HAOIIIOICHHE
BBITIOJTHEHUS 33IaHUI HA
MPaKTUYECKUX 3aHATHUSX,
mudepeHIMPOBaHHbBIN 3aUeT

31 - npaBuia NOCTPOEHUs

JleMoHCTpanys 3HaHUI

TectupoBanue, yCTHBIN OIIPOC,




MIPOCTBIX M CIIOKHBIX
MpEeIOKEHU I Ha
npodeccroHabHBIE TEMBI

HaIMKUCAHUS MPOCTHIX
CBSI3HBIX COOOIIEHUI Ha
3HAKOMBIC WJIH
HMHTEPECYIOITNE

npodeccuoHabHbIE TEMbI

9KCTIEPTHOE HAOIIIOJICHUE,
QG epeHIIMPOBAHHBIN 3a4eT

32 - OCHOBHBIE
o01IeYIOTPEOUTENbHBIC
r1aroJibl (ObITOBas U
npodeccroHanbHast IEKCUKA)

JleMoHcTpanus 3HaHUIA
OCHOBHBIX
00IIeYTOTPEOUTENbHBIX
riarojioB (ObITOBas U
npodeccruoHabHAS
JIEKCHKA)

TectupoBanue, yCTHBIN OIPOC,
JKCIEPTHOE HAOIIIOICHHE
BBITMOJIHEHUS 3a/1aHU Ha
MIPAKTUICCKUX 3aHATHUSX,
nuddepeHIMpPOBaHHBIN 3a4eT

33 - leKCcuYeCKUii MUHUMYM,
OTHOCSIIUICS K OIHCAHHIO
MIPEMETOB, CPEICTB U
IPOLIECCOB NPO(eCcCHOHATBHOM
JEATeNbHOCTH

JleMoHCTpanus 3HaHUI

JICKCUYCCKOI'0O MUHUMYMaA,

OTHOCSIIIETOCS K
OIMCAHMIO MTPEIMETOB,
CPEJIICTB U MPOLIECCOB

TectupoBanue, yCTHBIN OIIPOC,
9KCHEePTHOE HaOII0/IeHUEe
BBITTOJIHEHUSI 3aJaHHI Ha
NPaKTUYECKUX 3aHITUSAX,
mQepeHIIMPOBAHHBIN 3a4eT

npodeccuoHaTbHON
JesSTeIbHOCTH
34- ocobeHHOCTH JleMOHCTpaLus 3HaHUS TecTupoBaHue, yCTHBIH onpoc,
IIPOU3HOLLIECHUS 0coOeHHOCTEH JKCIIEPTHOE HAOJI0ICHUE
MPOU3HOIICHHS BBITIOJTHEHUS 3aJaHUI Ha

MPAKTHYCCKHUX 3aHATHUSX,
b depeHIMPOBaHHBIN 3a4eT

35- npaBuia YTeHUs TEKCTOB
npodeccuoHaTFHON
HaTPaBICHHOCTH

JleMoHCTpanus 3HaHUI
MIPaBUJI UTEHUS TEKCTOB
npoeccruoHaIbHOM
HaNpaBJIeHHOCTU

TectupoBanue, yCTHBIN OIIPOC,
JKCIIePTHOE HAOII0IeHHE
BBITIOJTHEHUS 3a/IaHUH Ha
NPaKTUYECKUX 3aHATHUSAX,

T QepeHIMPOBaHHBIN 3a4eT

OK 02 Hcnonb30BaTh
COBPEMEHHBIE CPEJICTBA
IOMCKa, aHaAJIN3a U
HWHTEpIpeTaIuu nHdopmaiuu,
1 uHGOPMAIMOHHBIE
TEXHOJIOTHH ISl BBIMOTHEHUS

ITouck HeoOxoAUMOIA
nH(pOpMaLINY; aHAIHU3
WHHOBAIMi B 00J1aCTH
npoeccruoHabHOM
JesITeTbHOCTH;0030D
nyonukauui - B

DKcnepTHOE HAOIIOACHHE U OLIEHKA
JeSITeTbHOCTH 00yYaroIerocs B
npoliecce OCBOCHUs yueOHOH
JUCITUITIIINHBI

3a71a4 NpoQeccuoHaNbHOM pogeccHOHaTbHBIX

JESITENbHOCTH U3AHMSX

OK 03. ITnanupoBats u [Inanupyer DKcrnepTHOE Ha0II0JCHHUE U OLIeHKa
pealin30BbIBaTh COOCTBEHHOE peann3oBbIBaTh JeSITeIbHOCTH 00yYaroIerocs B
npodeccuoHaIbHOE U COOCTBEHHOE IPOLIECCE OCBOCHUS yueOHOM

JMYHOCTHOE Pa3BUTHE,
NpeINPUHAMATEIBCKYIO
JeATEILHOCTD B
npogeccuoHanbHOH chepe,
UCII0JIb30BaTh 3HAHUS 110
(uHAHCOBOW TPAaMOTHOCTH B
Pa3INYHBIX KU3HEHHBIX
CHUTYaIIUsX

npodeccuoHanbHOE U
JMYHOCTHOE Pa3BHUTHE,
NIPEAIPUHUMATENBCKYIO
JeSITeNbHOCTD B
npoeccruoHaIbHOM
cdepe, UCIOIb30BaTh
3HaHUS M0 (PUHAHCOBOU
TpaMOTHOCTHU B
Pa3TMYHBIX )KU3HEHHBIX
CHUTYaIUsIX

TIVCITUTUTHHEBI

OK 09 ITons3oBarbes
npodeccrnoHaIbHOM

['pamOTHO KCTIOSIB30BaTh
npoeccuoHaIbHYIO

DKCIEepTHOE HAOIIOCHUE U OIICHKA
JeSATETLHOCTH 00Yy4aromerocs B




JTOKyMEHTAIueH Ha JIOKYMEHTAIHIO Ha MPOIIECCE OCBOCHUSI yUeOHOM
rocyJapCTBEHHOM U roCyJapCTBEHHOM U JIACIIATUINHBI
WHOCTPAHHOM sI3bIKaxX WHOCTPAHHOM SI3bIKaX

O0bexT onneHuBanusi «CocTraBjieHne JHAJI0Ta HA OCHOBE TEKCTOBOTOMATEPHAJIA)

Tunosoe 3aganne 1. Read the following text and use it to compare education in

Russiaand the USA.

Education in Russia

(text about the Russian Educational System for intermediate level)
academic subjects — yueOHbBIC TTPEIMETHI

competition — 371. KOHKYpC

fierce — xectkuit

public — rocynapcTBeHHbIN

bachelor’s degree — nurnnom 6akanaBpa

specialist’s degree — nunIOM HHXeHEpa

master’s degree — quIIIOM MarucTpa

higher education — Briciiee 0Opa3oBaHue

. institutions of higher education — Bricirie yueOHbIE 3aBeICHUS

All Russian children have the right to education, but it is not only a right, it is a
duty, too. Education in our country is compulsory and now lasts eleven years. It
consists of primary education and secondary education.

Primary education starts at the age of 6 or 7 and continues for four years. After
finishing primary school pupils go on to secondary school. The school year starts in
September and ends in May. Generally there 4 school terms with holidays up to 10
days between them. Thesummer holidays last from June to September.

Most schools in Russia are comprehensive, which take pupils of all abilities

without entrance exams. As a rule, pstudents go to school 5 days a week. But
there are also specialized schools, lyceums and gymnasiums, which give
profound knowledge invarious academic subjects. In lyceums and gymnasiums
students study 6 days a week.

After finishing the 9th form students must take 4 examinations. Then young people
can choose to stay at school, enter a college or a technical school. But to enter a
university theyhave to study for two more years (either at school or at college).
Higher education in Russia.

There are many colleges and universities in our country, but it is not easy to enter a
university or college as the competition is rather fierce. Most of the colleges and
universitiesare public and students do not have to pay for their education.

After 4 years of study students can pass examinations and get a bachelor’s degree,
after Syears a specialist’s degree and after 6 years a master’s degree.

There are a lot of institutions of higher education in our country:

o the Moscow State University (MockoBckuii ['ocy1apcTBEHHBII1 Y HUBEPCUTET)

o the Linguistic University, known as Maurice Thorez Institute of Foreign
Languages (JIuHrBUCTMYECKHMI  YHUBEPCUTET, W3BECTHBIM Kak MHCTUTYT
MHOCTpPaHHBIX si3bIKOBUMEeHH Mopuca Tepesbl)

o People’s Friendship University of Russia (Poccuiickuii YHUBepcUTET
Hpyx6s1HapooBs)

\'3E’o.\‘.C"\.L":';Eﬁ.“-’.H



They are well-known not only in Russia but also abroad.

3ananme. Retell the text to make sure that you have remembered the words:

O 00 IO\ Ut &~ W —

O 01N N =~ Wi —

study academic subjects

there is a fierce competition

take entrance exams

enter a university

get profound knowledge

get a bachelor’s degree

get higher education

various institutions of higher education

PRAANER WD

OO0beKT oeHNBAHNA «3HAHNE TPAMMATHY€ECKOI0 MaTepuasia)
Tunosoe 3aganue 2. [IpoBepka ocBoeHusi TeM «JIH4HBbIE MECTOMMEHUS» H
«IIpuTsKaTeJbHbIe MECTOMMEHHSD).

1. Paraphrase the following sentences using the Possessive Case.

. The office of our manager is very big.

. They will consider the proposals of Mr. Black at their next meeting.

. This is, in the opinion of the critics, their best record for years.

. The computer of Tom and Helen is modern.

. We have not yet received the answer of buyers.

. The working day of our Commercial Director begins at 9 o’clock in the morning.
. Do you know the telephone number of the Petrovs?

. My husband knows a lot about detective novels of Agatha Christie.

. She put the wet boots of the boys near the stove.

2. Make the nouns in bold plural. Change sentences if necessary.

. A copy of the contract was sent to London.

. The last leaf fell from the tree.

. The woman standing by the window is our secretary.

. This shoe is too large for my foot.

. “Is this worker an Englishman or a German?” — “He is a Frenchman".
. The mouse was caught.

. What is the child’s name?

. The roof of the house was covered with snow.

. A potato is a vegetable and a cherry is a fruit.

'

3. Make the nouns in bold singular. Change sentences if necessary.

. These factories produce furniture.

. The wives of the sailors came to the shore.

. IT'have hurt my feet and hands.

. In the farmyard we could see oxen, sheep, cows and geese.
. Do your teeth still ache?

. These are my friends’ studies

. He keeps his toys in the boxes.

. These ladies are those gentlemen’s wives.

The children are sitting on the benches.



Tema 2. UcTopus pa3Butus apromoomiecrpoenus. [[PUJIOXEHUE 2

OneHKa aJeKBaTHOCTH IEPEBOJA C YYETOM HOPM JIMTEPATYPHOIO PYCCKOIO S3BIKA..
VYnpaxHeHus no teme «Pa3psanel npunararenbHbix». «CTENeHU CpaBHEHUS
npuiaraTeabHbIX», « CpaBHUTEIbHBIE KOHCTPYKIIUW.

O0bext onennBanusa «llepeBoJg ayTEeHTHYHOI0 TEKCTOBOIO MaTepHaja ¢

MOCJIEeAYIOLIUM BbINOJHEHUEM MOCJIETEKCTOBBIX YIPAKHEHH I
Tunosoe 3aganue 1 .IlpounraiiTe u nepeBeauTEe TEKCT.

The first engine-powered farm tractors used steam and were introduced in 1868. These
engines were built as small road locomotives and were handled by one operator if the
engine weighed less than five tons. They were used for general road haulage and, in
particular, by thetimber trade. The most popular steam tractor was the Garrett 4CD.

Gasoline Powered Tractors

According to the book "Vintage Farm Tractors" by Ralph W. Sanders,

Credit goes to the Charter Gasoline Engine Company of Sterling in Illinois for first
successfully using gasoline as fuel. Charter's creation of a gasoline-fueled engine in
1887 soon led to early gasoline traction engines before the term 'tractor' was coined
by others. Charter adapted its engine to a Rumley steam-traction-engine chassis and
in 1889 produced six of the machines to become one of the first working gasoline
traction engines.

John Froelich

Sanders' book "Vintage Farm Tractors" also discusses several other early gas-powered
tractors. This includes one invented by John Froelich, a custom Thresherman from Iowa
who decided to try gasoline power for threshing. He mounted a Van Duzen gasoline
engine on a Robinson chassis and rigged his own gearing for propulsion. Froelich used
the machine successfully to power a threshing machine by belt during his 52-day
harvest season of 1892 inSouth Dakota.

The Froelich tractor, the forerunner of the later Waterloo Boy tractor, is considered by
many to be the first successful gasoline tractor. Froelich's machine fathered a long line
of stationary gasoline engines and, eventually, the famous John Deere two-cylinder
tractor.

William Paterson

J.I. Case's first pioneering efforts at producing a gas traction engine date back to 1894,

or maybe earlier to when William Paterson of Stockton, California came to Racine to
make an experimental engine for Case. The Case ads in the 1940s, harking back to the
firm's history inthe gas tractor field, claimed 1892 as the date for Paterson's gas traction
engine, though patentdates suggest 1894. The early machine ran, but not well enough to
be produced.

Charles Hart and Charles Parr

Charles W. Hart and Charles H. Parr began their pioneering work on gas engines in the
late 1800s while studying mechanical engineering at the University of Wisconsin at

Madison. In 1897, the two men formed the Hart-Parr Gasoline Engine Company of
Madison. Three years later, they moved their operation to Hart's hometown of Charles
City, Iowa, where theyreceived financing to make gas traction engines based on their



innovative ideas.

Their efforts led them to erect the first factory in the U.S. dedicated to the production
of gas traction engines. Hart-Parr is also credited with coining the word "tractor" for
machines that had previously been called gas traction engines. The firm's first tractor
effort, Hart-Parr No.1,was made in 1901.

Ford Tractors

Henry Ford produced his first experimental gasoline-powered tractor in 1907 under
the direction of chief engineer Joseph Galamb. Back then, it was referred to as an
"automobile plow" and the name "tractor" was not used. After 1910, gasoline-powered
tractors were usedextensively in farming.

Frick Tractors

The Frick Company was located in Waynesboro, Pennsylvania. George Frick started his
business in 1853 and built steam engines well into the 1940s. The Frick Company was
alsowell known for sawmills and refrigeration units.

1.1 Reading Comprehension
1. Read the text about inventors and their inventions. Choose the right
continuationof the following sentences.

1. A steam engine a. very popular even nowadays
2. A new internal combustion b. was the most comfortableand
engine reliable car.

3. The main advantage of diesels is | c. was invented by Rudolf Diesel.
4. The world tfamous Rolls Royce| d. was invented by James Watt.
car
5. All the cars produced by the | e. was a car engineer by profession.
firm
“Daimler-Benz”

6. Henry Royce f. were called “Mercedes-Benz”.

7. A German engineer Rudolf] g. made his famous invention in
Diesel 1897.

8. Morse code 1s h. that they run on rather cheap fuel.

2. Read the text about inventors and their inventions. Find the right
continuation tothe given sentences.

1. Changes in the man’s way of life have become more evident since

A. the discovery of a pistol with 6 bullets;

B. 1765;

C. the birth of Edison, one of the greatest inventors;
D. the first patented invention was registered

2. Aninvention is

A. the case of finding something which existed before but was not known to people.
It isoften a place or a scientific fact;



B. adifficulty that needs attention and thought in order to solve it;

0O

something that is finished or gained through skill or hard work;

o

a useful thing or idea which is produced by scientists for the first time.

The “Silver Ghost” model was

3
A. famous for its reliability and comfort;

B. created by Wright brothers;

C. one of the best racing cars at the beginning of the 20" century.
D. named after its creator Tom Silver.

4. Due to the development of a rubber solution

A

. raincoats were called makintoshes;
B. a transport revolution began;
C. the production of waterproof raincoats was quite successful;
D. raincoats became very popular.

3. Put all the sentences in chronological order.

« These two inventors managed to design the most reliable and comfortable car for
thebeginning of the last century.

« He invented the first gun with 6 bullets.
« This invention got its name after the inventor and is used in rainy weather.

« The invention of this engine gave birth to a large number of other discoveries
andinventions.

o This invention is used nowadays all over the world though there were some
otherinventions on analogy in the 19" century.

« Last century was remarkable for the introduction of the laser, the proliferation of
calculators and computers and a revolution in the telecommunication industry

The main advantage of that invention was that it used rather cheap fuel.

O0beKT oeHUBaHUE «3HAHUE TPAMMATHYECKOI0 MaTePHaJIay
Tunosbie 3a1anus o rpammaTike «CTeneHn CpaBHeHUs MPUIATATETbHBIXY.

1.Bei0epure B CKOOKaX NPAaBUJILHYIO CTENEeHb IPUJIATATEJIbHOIO:
1. Nick is (happier, the happiest) boy that I know. — Huk — camslii cyacTIMBBIN
MaJIbYMK,KOTOPOTO S 3HAO.
2. Of the six cars, I like the silver one (better, best). — M3 mectn MammH MHE
HpaBHUTCsIcepeOpucTas 00bIIe BCETO.
3. Jane’s notebook is (cheaper, the cheapest) than mine. — HoytOyk [[xeilin
JEIIeBIIE, YeEM MOM.
4. This 1s (more delicious, the most delicious) cheese-cake I have ever had! — Oto
CaMBIMBKYCHBIN YM3KEHK, KOTOPBIH 5 MpodoBasa!
5. This bookcase is (more beautiful, the most beautiful) than that one. — DtoT
KHIDKHBIUIITKa( KpacuBee, 9eM TOT.



6. Do you feel (better, the best) today than yesterday? — Tsl uyBcTBYeIIb ceOs TydIre
CEroAHs, 4eM Buepa?

7. 1 think my cat is (prettier, the prettiest) of all the cats in the world. — [{lymato, uto
MOSIKOIIIKA — camasi KpacuBasi KOIlIKa B MUDE.

8. Steve Jobs is (more famous, famouser) than Stephen Wozniak. — CtuB [[»x00c
OoneeusBectTeH, ueM CtuBeH Bo3HsIk.

9. This week the weather is (hotter, more hot) than last week. — Ha stoii Henemne
norojaxapye, 4eM Ha MpOIION Heee.

10.0ur new house is (more expensive, expensiver) than the old one. — Ham HOBBII
JIOMJOPOKE, YEM CTAPBIN.

11.Girls are usually (cleaner, more clean) than boys. — JleBouku 00bI4HO OoJiee
YUCTHIE,4Y€M MAJIbYUKH.

12.Chemistry was (harder, the hardest) subject at school. — Xumust Obuta cambiM
TPYAHBIM MPEIMETOM B IIKOJIE.

2. JlaiiTe cTeneHH CPABHEHUS NPUJIAraTeJIbHbIX.

H-p: wet — wetter — the wettest

expensive — more expensive — the most expensive

1. big (6onbmioit) 2. clever (ymusbiii) 3. good (xopommwmii) 4. pleasant (IpusSTHBIN) 5.
poor (0enusiit) 6. bad (mmoxoit) 7. funny (cmemHo#) 8. important (BakHbIi) 9. sunny
(COTHEYHBIH)

10. far (mamekwuii) 11. comfortable (yno06nsIit) 12. wise (MyapbIii)

. CocTaBbTe M3 TaHHBIX CJIOB MPEIJIOKEHUS U IepeBeInTe HX.

most — the Mona Lisa — in — is — painting — the — famous — the — world.
longer — the Don — is — the Volga — than.

more — Spain — Germany — than — beautiful - is.

London — city — in — biggest — the — England — is.

the — team — Adam — is - worst — the — player — in.

R W e W

VYnpaxnenue 4. Ckaxute, KaKue U3 CICTYIONINX MPEII0KEHUNA COCTABICHBI
BEpHO, UCTpaBbTe omuoOKu. Say which of these sentences are right and correct
the wrong ones.
1 T hope that next time you’ll speak to your uncle more politely. 2. Peter usually
comes to his classes most late of his classmates. 3. Who can solve this problem most
quickly? 4. This time he listened to his little sister patienter than usual. 5. Could you
speak a little slower, please? 6. When I was a very young child I thought that to sing
best meant to sing loudest. 7. I think that now I see the whole problem much more
clearly. 8. Who lives more near to the school — youor your friend? 9. Alice goes to
the theatre frequentest of us all. 10. Will you raise your handsa bit higher, please? I
can't see them. 11. In December it snows oftener than in November. 12. He knows
three languages but he speaks English easiest. 13. Last night I slept peacefullier than
before. 14, Could you come to school more early and water the plants tomorrow? 15.
This new computer works most fast and can solve problems in no time.



Ynpa:xuenue S. Translate.

Tw1 HEe MOT OBI BeCTH MalIuHy ObICTpee?

[Toe3a mpuOBLI paHbIle, YeM 0OBIYHO.

Mos cecTpa moMoraeT Mame Jauie Jpyrux WICHOB Hallleil CEMbH.

W3 niatu cnopTcMeHoB Bacst peIrHyn BhIIIE BCEX.

Muccuc ®unH4Y pa3roBapuBaeT ¢ MEJICECTPAMU TEPIIETUBEE BCEX APYTUX BpAUECH.
Haia cobaka maet rpoMue CoceICKOM.

Moii 6pat nuieT 6adyIike yarie, 4eMm f.

AHHA TOBOPUT MO-aHTJIMKACKH Jy4iie Bacu.

Bacs xuBet Oirke BceX K IIKOJIE.

Lo NOUL R WN R

Tunosbie 3aganns Mo rpaMmaTike «CpaBHUTEIbHbIE KOHCTPYKIMI.
1. ITocTaBbTe “s0”, “such” uiam “such a/an”. IlepeBennTe npeaIoKeHU.

It was ... hard nut that I couldn’t crack it.

The wine was ... cold that we couldn’t drink it.

She was ... nervous that she phoned her doctor.

Susan cooked ... delicious food.

We arrived ... late that we missed the train.

His son is ... clever boy.

Monkeys are ... funny animals.

Alice danced ... beautifully!

“Harry Potter” is ... interesting book.

10 Our teacher always wears ... pretty dresses.

R R

2. Ilepedpazupyiire npeasioKeHusl, HCIOAb3YH KOHCTPYKIHHU «AS ... 28» HJIH «SO ...
as».

1. He is very tall and she is very tall too. (OH oueHb BBICOKHMIl, U OHa TOXeE
odeHbBBICOKas.) — He is ........... her.

2. Jane and Tim are both good swimmers. ([[>keiin u Tum — 06a XopoIire TIOBIIHL.)

— Jane swims ..........

3. Sara is stronger than me. (Capa cuibHee MeHsl.) — ’'mnot ..........

4. Our hotel is more expensive than yours. (Ham orens nopoxe, yem Bami.) — Your

hotel isn’t ................. ours.

5. His blue suit is very smart and his black suit is also very smart. (Ero cunmii

KOCTIOM KJIACCHBIM, M YEPHBIM KOCTIOM TO€ KiaccHbIi.) — His blue suit is ..........

his black suit.

6. My cat is younger than my dog. (Mos komika mutaaiie cobaku.) — My dog isn’t
my cat.

O0beKT OLIEeHMBAHUS «IIEPEBO/ AYTEHTHYHOI'0 TEKCTA U COCTABJICHHUE
AHAJOTHYECKUX CUTYallMid HA ero OCHOBE».
Tunosoe 3ananue 1 .IlpounTaiiTe u nepeBeaUTE TEKCT.

Transport related environmental pollution has many faces, but two of them are
especially onerous: emission of harmful compounds of exhaust gases and
vibroacoustic effects with particular significance of noise. Effective counteracting to
these nuisances requires tools supporting decision making in designing sustainable



transport systems, especially in the area of predicting and managing traffic flows.
The assessment of environmental efficiency of transport system in terms of
pollution and noise should take into account external costs of preventing and
eliminating harmful effects of transport activities. In general, the efficiency of
transport system is a mix of two elements: effective realization of its main
objectives and the costs of counteracting negative effects of its operations. The
level of objectives implementation can be described as the effects of the system,
while the inputs correspond to the resources involved to achieve the objectives —
including reduction of the negative impact of transport on the environment [1, 2].
Unwanted effects of transport operation are environment and health degradation.
For example, community noise, including traffic noise, is already recognized as a
serious public health problem by the World Health Organization. Most important in
this context is the road transport sector, due to the fact that it is responsible for the
majority of external costs of transport in total Over 210 million people in EU is
exposed to harmful traffic noise which has a variety of adverse impacts on human
health. Noise-induced health effects include: disturbance on sleep, activities,
performance and concentration, annoyance and stress, biological risk factors,
cardiovascular diseases and psychiatric disorders Detrimental effects of transport
on the environment and health entails significant indirect costs (arising in the
design, manufacture, consumption and utilization of transport means and
infrastructure) and direct costs (accidents, noise, vibration). Although effects of this
impact are difficult to estimate, but it must be done for proper decision making in
traffic management and according to law requirements. The inclusion of costs of
negative influence of transport (internalisation), especially in road mode, is
postulated as a factor in the development of transport systems in conformity with
environmental and health aspects.

3aganue 2. CocTaBUTH JMAJOI HA OCHOBE JAHHOIO TEKCTa 00 «IKOJOTHM
Tpancnopra BPoccum»

O0beKT oueHNBaHUSA «3HAHME TPAMMATHYECKOI0 MATEPHAJIA)
Tunosble ynpaxHeHue Ha 0TPaA00TKY rpamMmmMaTu4deckoit tembl «IIpemxnorm».

1. Kommuiekc ynpaxHeHU# 1 3aJaHU Ha aBTOMATU3ALMIO YIIOTpeOIeHus
IPEAJIOTOB MECTA BAaHTJIMMCKOM SI3BIKE.

1. BCcTaBUTh IpeIOTy 110 CMBICITY.

BcraBbTe npensioru in, on, behind, next to, under,
between,] Where is the bed? It is ...... the kitchen.
2Where is the chair? It is ...... the table.

3Where is the lion? It is............... the TV and The bed.
4Where 1s the bike? It 1S.......uuveeenneeen.. the door.
S5Where is the table? It is................... the chair.
6Where is the door? Itis ........ccceeueeeee. the elephant.

7Where are the pictures? They are........... the wall (ctena).



2. BcraBb BMecTo nponyckoB npeaioru on/ under/ next to/ in/ behind.

The lamp is........... the desk.

The catis.............. the desk.

The chair is................ the desk.

The girl is ................. the boy.

The book is............... the desk.

The pencils are .............. the desk organizer.
The copybook is.........ccuuu.ee... the book.
The boy iS....ccceuveeenneee. the desk.

2. BepHoe/ HeBepHOE yTBEpKICHUE
Hanumm True, ecnu npennoxxenue BepHoe, False, eciin npeainoxeHne

HeBepHoe. The rulers are in the bag.............
The apple is in the bag..................

The books are behind the bag...........

The pencils are behind the books...........

The pencil is in the bag..................

The board is behind the bag............

The apple is next to the books..............

The rulers are on the bag................

The lamp is on the desk. .................

The picture is next to the guitar. ............
The guitar is behind the bed. ..............
The carpet is in the middle of the room........
The computer is under the desk................
The green book is on the chair.................
The chairs are next to the desks...........

The beds are next to the window

O NNk W=

Tema 4. 3n0poBbe U CHOPT.

[IpoBepka U OlIEHKA MPAKTUYECKUX 3aJaHUH TT0 TPAMMAaTHKE: YUCIUTEIIbHBIE.
O11eHKaBBINOJHEHNE TECTOBBIX 3a/IaHUI IO TeME «3I0POBBIN 00pa3 KU3HWY.
O1eHKa MOHOJIOTHYECKOTO BhICKAa3bIBaHUS 1O TeMe: « Mol TH00UMBINA BU CIIOPTay.

O0beKT OLleHUBaHHE «AyAUPOBAHUEC)»
Tunosoe 3apanue 1.(tect). [locTpoenne 1uaJI0roBbIX CUTYAMH 110 €TI0

pe3yjbTaTam.
Answer the questions and see how healthy you are.

1. How often do you eat fruit and vegetables?
a.every day

b.4 times a week

c.twice a week

2. How often do you do morning exercises?
a.every day

b.often

c.never



3. What do you have for breakfast?
a.porridge

b.eggs

c.sandwiches

4. How often do you drink cola?

a.never b.once

a week

c.almost every day

5. How long do you watch TV during a day?
a.about 1 hour

b.2 or 3 hours

c.more than 3 hours

6. How long do you play computer games?
a.30 minutes

b.1 hour

c.more than 1 hour

7. How many hours do you sleep?
a.8-10 hours
b.7 hours

c.less than 7 hours

Results: if you have mostly a) answers, you are healthy.
Congratulations!If you have b) answers don’t be lazy. Think it
over.

If you have c) answers, go to the doctor! You may be 1ll!

O0beKT oneHMBAHUS «3HAHUE TPAMMATHYECKOI0 MaTEPUAIA»
TunoBble ymnpaxkHeHHMss Ha OTPa00TKY TIPAMMATHYECKON  TeMbl
«Yucaurenbubien1.1Ipounraiite cieayonue cJiOBOCOYCTAHUSA:

1. 150 magazines; 1800 students; 2000 dollars; 12000 specialists; 5640000 books;
2. on page 546; by bus 287; in room 819; 7 o’clock train;
3. hundreds of students; dozens of shops; millions of peoples; thousands of dollars.

2. IlepeBenuTe HA AHTJIMUCKHUN SA3BIK
1. 25 xm; 163 teicsauu qosmapos; 90 kaptun; 200 MUITMOHOB JIIOJICH;
3500aBTOoMO0OMIIEN; 4 THICSYN MAIIIWH;

2. COTHU aBTOMOOWIEH; NECATKHU )KYPHAJIOB; THICSIYH CTYI€HTOB; MUJIJIMOHBI JIFOJICH.

3. IIpouwuraiite 1aThbI:

1. in 1965; 1n 1907; in 1945; in 1998; in 2000; in 2008;
2. at the beginning of 2000; at the end of 1729; by the beginning of 2005; by the



end 0f2004.
3. 1/2 kilometer; 1/8 ton; 0.5; 4.26; 1.234.

4. Haiinnre 14 yuC/IUTEeIBLHBIX B IPEICTABJIEHHOM KPOCCBOp/eE.

t/hjoju|s|a|n|d t
m nlh eli h|t
i elu e s|i|x
I|nji|n|e 1 r
1 t{d|d/ hjr|e|e|t
1|w r y|v y
0 tle|n|i e
n d fli|f/tie|le|n

5.Ha3oBHuTe N1 HANMIIMTE HOMePA 10 NOPSAKY.

1-
2 -
3 -
4 -
5-
6 -
7-
8-
9-
10 -
11 -
12 -
13 -
14 -
15 -
16 -
17 -
18 -
19 -
20 -

6. Hanumure ciaeaywmue qudpobl NOPSIAKOBBIMH YUCITUTEIbHBIMM.

e 10-
20 -
30 -
40 -
50 -
60 -
70 -
80 -
90 -
100 -




o 11-
o« 21-

o 32-
o 43-
o 54-
e 065-
o 76-
o &7-
e O8-
e 109 -

7. Ilpouuraiite AaThl.
1. May 9, 1945
2. August 24, 1991September 1, 2004
December 31, 2005
on the 1st of January;
on the 23rd of February;
on the 8th of March;

on the 5th of May.

NNk w

8. IlepeBeauTe HA AHTJIMHCKHUH SI3BIK.

30 mapra;

1 HOs0pH;

15 cenTsops;
2 WIS,

K 3 aBrycra;
K 14 anpens;
K 29 HOs0p4;

K 24 deBpains.

P NANE DD =

Ouenka 3aJaHUil  TPaMMATUYECKOTO W PEYEBOrO0  XapakTepa MO  TeMe
«Mecroumenusi». CocraBieHue TaOMUIBI  «IPEHMYIIECTBA W HEIOCTATKH
MyTEUIECTBUS HA PA3JIMYHBIX BUIAXTPAHCIIOPTA »

O0beKT olleHUBaHUA «3HAHUE TPAMMATHYECKOT0 MaTePHaJIay
Tunosoe 3ananne 2. [IpoBepka ocBoeHus1 TeM «JIn4HbIE MECTOMMEHUS» U
«IIpuTsaxaTeabHbIe MECTOMMEHUSD).

1. CKOJIBKO maAeXel y JUYHBIX MECTOMMEHHM B aHIJIMICKOM  SI3bIKE?
HazoBute sTunanexu.

2. Kakoe nM4YHOE MECTOMMEHHME 3aMEHsSET W ONYILIEBIEHHBbIE, U
HEOJIyILIEBIICHHBIECYILIECTBUTEIbHBIC?

3. HazoBuTe nuM4HBIE MECTOMMEHHUS, KOTOPbIE UMEIOT OJUHAKOBYIO (hopmy

BO BCEXIaaexax.

4. IIpuTsxareabHOE MECTOMMEHHME BCErAa CTOUT IIOCIIE CYIIECTBUTEIBHOIO, K
KOTOPOMYOHO OTHOCHUTCS, WU Hepe]l HUM?



5. Ecniu nmunoe mectoumenue [ (SI) ymorpebnsiercss psiioM C ApyrumMu
JUYHBIMU MECTOMMEHUSMHU (WM CYLIECTBUTENIBHBIMHM), TO OHO CTOMUT /0
niu nocne Hux?IIpuBenure npumep.

3ananue 2. O003HaUbTE TPAMMATHYECKH BepHOe mpenioxenue 0yxkpon C

(Correct), aneBepnoe — W (Wrong).

1. Mary lives alone. Her husband is in London now.
2. John invited me to him presentation.

3. My parents lost them old photos.

4. Please send your cards directly to our office.

5. Tom can’t open the door. Him has lost his keys.

3ananue 3. Ckaxxure, kakuM mectonmenueM (he, she, it, her, they, them)
MOKHO3aMEHHUTH BblleJIeHHbIE CJI0OBA.

O6pasze: Pete is a pupil. — He is a pupil.

1. Tom is a doctor.

2. Mary is in the garden. Call the girl.

3. The books are on the table. Take the books.

4. The scarves are red.

5. The English text-book is in the bag. Take the text-book.

BceraBbTe MecToumenus I, we, you, us.
Oo6pa3sen: Mary and Ann, where are ...? - Mary and Ann, where are you?

1. ama school-girl.

2. Howold are ...7.......... am eleven.

3. Boris, show........... the photos, please.

4. Are Mary and you friends? Yes, ... are ..... are good friends.

3ananue 4. Pemure TecThI (TOJIBKO OJIUH OTBET BEPHbIii).
1. I can see Amanda. is waiting for the New York plane.
Al

B) She

C) His

D) He

2. The clerk is speaking to the women. He is talking to__.

A) them

B) they

C) him

D) he

3. I haven’t got the keys. Father has got___.

A) him

B) her

O it

D) them

4. Can you see those boys and __ father?

A) they

B) them



C) their

D) him

5. Cats can wash paws and fur.
A) they

B) his

Q) its

D) their

O0beKT OIeHMBAHUSA «YMETh NUCATH U TOBOPUTD)
Tunosoe 3aganue 1. 3anmoaHuTe TA0JINIBI.

TRAIN, CAR, PLANE BICYCLE,BUS,SHIP

Advantages Disadvantages
1 1
2 2

Tema 6. Mos 0ynymas npodgeccusi, kKapbepa.
Onenka ['paMMaTryeckoro o Marepuana Ha OCHOBE KOMMYHHMKATHMBHBIX U PEUYEBBIX
3amanuil. O1ieHKa BBITIOJIHEHUSI TECTOBBIX 3ajaHuil mo Teme ««Present Simple Tensey,
«should».
[IpoBepka u OLIEHKa KOMMYHUKATUBHBIX YIIPAKHEHUM, TUAIOTOBBIX CUTYAIIH.

O0beKT oueHNBaHUSA «3HAHME TPAMMATHYECKOr0 MATEPHAJIa)
TumnoBsblie 3a1aHus 0 0TPA0OTKE TPAMMATHYECKOI0 MaTepuasa «MoaajabHbIi
rJjaroJ should»

1. IlepeBenuTe npea10KeHUs U ONpeeIUTe 3HAYEHHE MOJAJIBLHOIO IJ1aroJia
(coBeT,0013aHHOCTD, YIIPEK, HeJOYMEHHE).

1.  We should think twice before buying that yacht.

2. You should have thanked the teacher.

3. Areal lady should be delicate in her words and doings.

4. Why should I wash their cups?

5. She shouldn’t be so light-minded.

6. They should inform the police immediately.

7.  How should I know that?

8. You should have warned me beforehand.

9.  The secretary should answer the phone-calls.

10. Your son should take part in this mathematical competition.

2. Haiigure K Ka:x10i npodJeMe U3 JieBOH KOJOHKH NMOAXOASAIIHNI COBET U3 MPaBOil.
1.  Heis 10 years younger than Sara. A. You should go and wash it.

2. My plants are dying. B. She shouldn’t marry him.

3. T'have put on 5 kilos lately. C. You should connect the charger.

4. Your hair looks greasy. D. You shouldn’t eat so many sweets.
5.

My telephone battery is getting low. E. You should water them regularly.



ITocTaBbTe should niu shouldn’t.

You ... eat too much salt and sugar.

You ... drive carefully.

It’s midnight. We ... go home.

Your little daughter ... spend so much money on toys.

It’s quite cold today. We ... wear our jackets.

The service is awful here. We ... complain to the manager.
Your shirt is dirty. You ... change it.

The parcel is fragile. You ... throw it.

X NNk W= W

TunoBble 3a1aHKe M0 OLeHKe rpamMMaTn4yeckoii Tembl «Present Simple Tense»
TeopeTnueckuit TeCT
Br10epuTe npaBWIbHBIN BApUAHT OTBETA:

1.  Present Simple ynorpeGasiercs 1151 0003HaYEHUS

a.  MPOCTOTO MOBTOPAIOLIETO JACHCTBUSA B HACTOSIIEM

b.  JANIUTEIBLHOTO JACHCTBHUS B HACTOSIIEM

c.  Oymymux nencTBui

2. B 3-Mm aune exn.u. riaron B Present simple umeeT okoHUaHue
a. —ed

b. -8

c. IS

3.  Ecnu rimaros okaHuMBaeTcs Ha -Ss, - sh, -ch, -x, -0, To B 3-M nu1ie en.4.
100aBISAECTCIOKOHYAHHE .

a. —€s

b. —S

c. —ies

4.  Ecnu B 3-M JMLE €1.4. IJ1aroJibl, OKAHYMBAIOIIMECS HAa OYKBY —Y, IIEpeN
KOTOPOMCTOUT coryiacHasi OyKBa, UMEIOT OKOHYaHUE —€S, IPU 3TOM OYKBa y
MEHSETCs Ha

a. u
b. e
c. 1

BcraBpTe MpaBUIBHBINA OTBET.

1. Kakwue riarossl- IOMOIIIHUKY CYIIECTBYIOT B Present Simple?_

2. CrpammarndeckumM BpemeHeM Present Simple 00bI4HO yroTpeOsitoTcs
CIEAYIOIINEYKA3aTeId BPEMEHHU:
3. Hapeuus BpeMeHU B NPEI0KEHUN OOBIYHO CTABSITCS
4. Ecnu B mpeyio;KeHUH UCTI0JIb3YETCs T1aroi to be, To Hapeune BpeMeHH CTaBUTCS

HcmnpaBbTe OmmoOKH:

My sister like dancing.

Her friend do not go for a walk every day.

My mother usually cook porridge for breakfast.
He takes always a shower every morning.

Does you live in Moscow?

She do not be at work now.

His father watchs the TV every evenings.

NN AE DD =

O0beKT OlleHUBaHUSI «YMeHHE YNTATh U MmepeBoOAUTL»



TunoBoe 3aganue 1. IIpounTaiite u nepeBeaANTE TEKCT.

FARM MACHINERY 1. We know the farmer to have a wide range of machinery to
plow and disk, and harrow, and plant, and fertilize, and finally harvest faster, easier
and more profitably today. The machine is known to be a device that uses force to
accomplish something transmitting and changing force or motion into work. 2.
Agricultural implements and machines being very numerous and diversified now may
be divided into 4 main groups: tillage equipment, planting equipment, fertilizing
equipment, harvesting equipment. 3. The aim of tillage is to prepare the soil for
planting and to keep it loose and free from weeds during the growth of crops. The
primary tillage equipment used by the farmer includes plows, sub-soilers, and
thinners. The secondary tillage equipment embraces harrows, rollers and tools for
mulching and fallowing. Plow is designed to eliminate weeds, to prepare a suitable
seedbed, to improve the physical condition of the soil. Plows fall into mounted, semi
mounted, disc, moldboard plows. The main components of ploughs are the main
frame, the share, the moldboard, the disc coulter, the skim coulter, the headstock. The
function of sub- soiler is to penetrate into the deeper depths and break up the layers of
soil which have become compacted due to the movement of heavy machinery. A
harrow is an implement used to level the ground and crush the clods, to stir the soil,
and to prevent and destroy weeds. There are three principal kinds of harrow namely
the disk, the spike-tooth, and the spring tooth. 4. Cultivation machinery is used to
break down the soil before or after a crop is sown for covering seeds, for
consolidating the soil and for hoeing out weeds. There are several types of cultivators
designed for special crops and conditions: beet and bean cultivators, lister cultivators,
rotary hoe cultivators, rod weeders, field cultivators, sub-soil and chisel cultivators.

5. Planting equipment is any power-operated device introduced to place seeds or
plant parts in or on the soil for production of food and feed crops. It is classified as
row-crop planters, broad-cast planters, grain drills and planting attachments for other
equipment. 6. Applying such types of fertilizers as barnyard manure, granular
fertilizers, and fertilizers in liquid and gaseous form is necessary where soils are
deficient in plant food elements. Such fertilizing equipment as manure spreaders,
fertilizer distributors, sprayers are in use. 7. Crops are harvested by the use of many
kinds of harvesting equipment for all types of crops. The principal machines required
to make hay are mowers, rakes, balers. Grain and all types of seed crops are
harvested by combine harvesters. Beet harvesters are available to harvest beet, potato
harvesters and diggers being for potatoes. 8. The tractor is the most important
machine pulling many kinds of implements that cultivate plant, fertilize, and harvest.
Wheeled tractors being used for general farm work, track-laying tractors or crawlers

have the great advantage that they can be available for heavy loads on any class of
land.

O0beKT oueHNBaHUS «3HAHUE TPAMMATHYECKOT0 MaTepHaJia»
Tunossble 3a1aHus.

1.PackpoiiTe cko0ku, ynorpeodJisisi riaroJibl B Present, Past wiau Future Simple
Passive.



1. Bread (to eat) every day. 2. The letter (to receive) yesterday. 3. Nick (to send) to
Moscownext week. 4. I (to ask) at the lesson yesterday. 5. I (to give) a very
interesting book at the

library last Friday. 6. Many houses (to build) in our town every year. 7. This work (to
do) tomorrow. 8. This text (to translate) at the last lesson. 9. These trees (to plant) last
autumn. 10.Many interesting games always (to play) at our PT lessons. 11. This bone
(to give) to my dog tomorrow. 12. We (to invite) to a concert last Saturday. 13. My
question (to answer) yesterday. 14. Hockey (to play) in winter. 15. Mushrooms (to
gather) in autumn. 16. Many houses (to burn) during the Great Fire of London. 17.
His new book (to finish) next year. 18. Flowers (to sell) in shops and in the streets.
19. St. Petersburg (to found) in 1703.

2. Ilepenaiite caenyromue npenioxenusi B Passive Voice, oOpamasi BHUMaHHe

HAa MeCTO MmpejaJiora.
E.g. We often speak about her. — She is often spoken about.

1. We thought about our friend all the time. 2. The doctor will operate on him in a
week. 3. The teacher sent for the pupil's parents. 4. They looked for the newspaper
everywhere. 5. Nobody slept in the bed. 6. The neighbour asked for the telegram. 7.
Everybody listened tothe lecturer with great attention. 8. The senior students laughed
at the freshman. 9. The group spoke to the headmistress yesterday. 10. The young
mothers looked after their babies with great care. 11. Nobody lived in that old house.
12. They sent for Jim and told him to prepare a report on that subject.

3.Ilepenaiite ciaenywuue npeanoxenus B Passive Voice.

E.g. Mother waters the flowers in the evening.

The flowers are watered in the evening (by Mother)

1. A marble pavillion protects the house. 2. The boys will paint the roof of the house.
3. Tom Sawyer whitewashed the fence. 4. Her daughters gave her three beautiful
dishes as a birthday present. 5. Tom gave Nick a book for his birthday. 6. Our mother
tells us stories every evening. 7. Lydia will show you a new book of pictures. 8. A
boy showed her the way. 9. They will send us a box of fruit. 10. Five or six small
children followed them. 11. In summer the boys often drive the horses to the fields.
12. Ivan Susanin led the Poles into the thickest part of the forest. 13. The waves
carried the boat away. 14. We shall do the translation in the evening. 15. They water
the flowers regularly. 16. You promised me these books long ago,

17. Bessie's father gave her a complete set of Walter Scott's works. 18. Irene's
husband brought her some beautiful shells from the south. 19. The explorers gave the
newspaper reporters a long interview. 20. Mr. Wilson will teach you English. 21.
The doctor ordered mea month's rest from studying.

4.Packpoiite ckoOKH, ynoTped.isis riaaroJbl B Active uim Passive Voice.

1. Nobody (to see) him yesterday. 2. The telegram (to receive) tomorrow. 3. He (to
give) me this book next week. 4. The answer to this question can (to find) in the
encyclopedia. 5. We (to show) the historical monuments of the capital to the
delegation. 6. You can (to find) interesting information about the life in the USA in
this book. 7. Budapest (to divide) by the Danube into two parts: Buda and Pest. 8.
Yuri Dolgoruki (to found) Moscow in 1147. 9. Moscow University (to found) by
Lomonosov. 10. We (to call) Zhukovski the father of Russian aviation.



TunoBoe 3ananue 3 IIpourure Teker "Clutches' u cocTaBbTe IUIAH TEKCTA HA
pyCCKOMSI3bIKeE.

CLUTCHES
As it has already been mentioned, it is characteristic of an internal combustion
engine to develop little power or torque of slow rotational speed. It is also well
known that more effort is required to start a body in motion than to keep it moving
once it is in motion. Therefore it isdesirable to allow the engine to attain increased
speed of rotation before it is required to put the automobile, truck or tractor in
motion. Obviously, a sudden connecting of rapidly rotating engine to the propelling
means of the stationary vehicle would result in violent shook. Gradual application
of the load along with some slowing of the engine speed is needed to provide
reasonable and comfortable starts. For this purpose many types of connecting means
have been used as a coupling between the engine and driving wheels. These devices
are of mechanical, electrical and hydraulic types. The clutch permits the driver to
connect the crankshaft to, or disconnect it
from, the power train. A clutch or disconnecting device is necessary, since the
automobile engine must be started without load. That is, it must not be required to
deliver any power during the starting period. In order to deliver power to the
engine the crankshaft must berotating at a reasonable speed of several hundred
revolutions per minute. The engine would start at speeds below 100 r.p.m.
(revolutions per minute), but it would not continue to operate at this low speed if a
load was immediately thrown on it. Consequently, a clutch is placed in the power
train between the crankshaft and the transmission. The clutch permits the engine to
run freely without delivering power to the power train. It also permits operation of
the transmission so that the various gear ration between the engine crankshaft and
the wheels maybe obtained.

Tunosoe 3aganue 4.1. 3akoHYNTE CieAyIONIHE MPEATOKEHUSI.
1 It is also well known that... .
2 Therefore it is desirable to allow ..
3 Obviously,a sudden connecting of rapldly rotating engine to ..
4 For this purpose many types of connecting means have been used as..
5These devices are..
6 The clutch permits the driver... .

7  The engine would start at

speeds ....8 Consequently, a

clutch is placed ... .

9 The clutch permits the

engine... .10 It also permits

operation... .

TunoBoe 3aganue 4.2. O6pa3syiiTe Hape4yue 0T CJAeAYIOUIUX CI0B, HCIOJIb3Ys
OKOHYAHHE

-LY:

Consequent, immediate, reasonable, gradual, slow, comfortable, violent, usual,
increasing,free



Tunosoe 3aganue 4.3. Haligure 0TBET, COOTBETCTBYIOIINA COJEPKAHUIO TEKCTA.
1 What types of clutches do you

know?2 What is a clutch used for?

3 Where is a clutch placed?

Tunosoe 3aganue 4.4. [lepenaiite conepxanue TEKCTa HA AHTVIHIICKOM

sI3bIKE, HC-TI0JIL3YS CJIeYIOlNe BhIPAsKeHUS:
the text is about .... ; the text deals with the problem of... ; the main prob-
lem of the text is... ; it is worth mentioning... .

O0bexT onneHuBaHue «[lucbMeHHBIN NepeBOI TEKCTA CAHHOTHPOBAHHEM))

Tunonoe 3aJaHue 1. IIncbMeHHBbIH nmepesoa ayTCHTHYIHOI0 TEKCTAa €
IlﬂJIbHCﬁlHHMaHHOTI/IPOBaHI/IeM..

Analysis of Labour Terms in the Workplace

The analysis of terms of labor must be conducted from point of exposure of
possible (potential) dangerous and harmful production factors when someone
undergoes monitoring or maintenance where most of his or her time is spent
working with computer to simplify the particular task, through created hardware’s,
technological processes, by wrong organization of labor in apartment floors and on
workplaces.

Development of device was conducted in a Data management and distributing
company with a good number of workers that work in various departments on a
regular basis. The industry in question has personal computer sizes of that 9M x
11M x 4m. Accordingly, the industry of S measure is equal 380M?2. Width of
evacuation exit is equal 4 x 0.8 m = 3.2M. In the industry, there are 50 persons
(N= 50) working on different task regarding their departmental duties/task. Many
of them use computer (operators of PC).Planning of laboratory is executed on PC
by several people and computers are located in the various departments/offices.

What is Labour Protection?

The system of technological, sanitary, hygienic, and legal measures directly aimed
at ensuring working conditions that are not harmful to human life and health. In
the former USSR and other socialist countries, the protection of the health of
working people and the elimination of occupational diseases and work injuries is
one of the chief concerns of the state. Significant sums are allocated every year for
labor protection and industrial safety. Achievements in labor protection in the
socialist countries are closely linked to technological progress; integrated
mechanization and automation of production make working conditions easier and
eliminate heavy physical labor. Protection of labor includes preventing the harmful
social consequences that can result if safety measures are neglected, and special
legal guaranties have been instituted to avoid such consequences.

Labour Protection also refer to as creation of safe and healthy terms of labour in
workplaces and workings areas.Labour protectionmediates the relationship



between workers, employers, trade unions and the government. Collective labour
law relates to the tripartite relationship between employee, employer and union.

OO0beKT onleHNBaHNE «3HAHNE TPAMMATHYECKOr0 MaTepuaJia u
NPaAKTUYECKOr0 ero NpuMeHeHus»

TunoBble 3a1aHuA:

1.IlepeBeaute Ha pycckuii si3bik.May I invite Nick toour house? 2. You may go
now. 3. If you have done your homework, you may go for awalk. 4. Don't go to the
wood alone: you may lose your way. 5. May I go tothe post office with Mike? 6. May
I take Pete's bag? 7. Don't give the vase to the child: he may break it. 8. May we take
notes with a pencil? 9. You may not cross the street when the light is red.10. Mayl
shut the door? 11. It stopped raining, and mother told us that we might go out. 12.
May children play with scissors? 13. They may travel by sea. It may be cheaper, but
it takes along time. 14. It may be true. 15. May I come and see you? 16. Where have
youbeen, may I ask?

Bcmasvme modanbHble 21a20.1bt may uiu can.

l.... you see anything in this inky darkness? 2. You ... go when you have finished your
essays.

2. What shall we do if the train is late? It ... be late, you know, after the terrible
snowstorms we've had. 4. When ... you comeand see me? — Let tesee: I ... not come
tomorrow, for I must be at the meeting, but on Sunday I'll find time. Yes, you ...
expect meon Sunday about two o'clock. Will that be all right? 5. You ... comein when
you have taken off your boots. 6. Be careful: you ... spill the milk if you carry it like
that. 7. Most children ... slide on the ice very well. 8. I don't think I ... be here by
eleven o'clock tomorrow, but I ... be. 9. ... you say what will happen in an hour?

3. Ilepenuwiume Kaxcooe u3 ciedyiouiux nPedioHceHuil 08axcobl: 6

npowieouiem u 8 0yoyuiem epemMenu. 3ameHaiime MooaibHble 21a2016l must
U Can IKGUBATICHMAMU, 20CHE00X00UMO.

1. You must listen to the tape recording of this text several times. 2. You must take
your exam in English. 3. She can translate this article without a dictionary. 4. We
can't meet them at the station. 5. The doctor must examine the child. 6. He must
work systematically if he wants to know French well. 7. This child must spend more
time in the open air. 8. I can't recite this poem. 9. You must take part in this work.
10. He can't join the party because he is busy. 11. I can settle my own problems.

4. Ilepenuwiume Kaxycooe u3 ciedyiouiux NnpeoiodceHull  08aycobl: 8

npowieduwiem u 6 Oyoyuiem gpemenu. 3aMenaume Moo0aibHble 21a201bl must
U_can IKeUEAICHMAMU, 20CHE0OX00UMO.




1. You must listen to the tape recording of this text several times. 2. You must take
your exam in English. 3. She can translate this article without a dictionary. 4. We
can't meet them at the station. 5. The doctor must examine the child. 6. He must
work systematically if he wants to know French well. 7. This child must spend
more time in the open air. 8. I can't recite this poem. 9. You must take part in this
work. 10. He can't join the party because he is busy. 11. I can settle my own
problems.

O0bekT onennBanus «llepeBox ayTeHTHYHOI 0 TEKCTOBOr0 MaTepuaJa » Tunosoe
3a/laHNe: MepeBeIuTe TEKCT HA PYCCKUM SI3BIK

Handling, lifting and transportequipmentHandling, lifting and transportequipment that
carry out only unloading of cars. All these machines are individually driven (electric,
hydraulic or internal combustion engine); 5) and others. When choosing a loading and
unloading machine, plant and equipment, it is necessary to proceed from the following
provisions: — loading and unloading machines, installations and equipment must: — to
ensure effective loading and unloading of materials and goods, as well as their
movement within the construction site or outside it, to be reliable in work, safe for
staff; — to be mutually coordinated in terms of productivity, type of rolling stock and to
ensurethe qualitative and quantitative safety of the materials and goods being handled;

— to ensure the integrated mechanization of the production process, and, where
possible, its automation; — to ensure the least laboriousness and cost of loading and
unloading operations, as well as to reduce the time of construction of facilities. When
choosing loading and unloading machines and cyclic installations (single-bucket
universal loaders and forklifts, special loaders, cranes of various types, single-bucket
excavators with special loading equipment, automobile self- loaders, railway car
unloaders), the initial data are production factors that characterize the working
conditions of the above means mechanization, working independently or in a set with
vehicles. The main initial data are: — the volume of work performed at the facility
(point of cargo handling); 2.1. Factors, determining the choice of lifting and transport
equipment 21 — thetype of loading and unloading operations (loading, unloading,
warehousing, stacking, moving, etc.); — types of materials to be handled and cargo
(bulk, lumpy, lumpy, piece, packaged, long), their volumetric characteristics,
dimensions, weight; — distance ofmovement, height of unloading, radius of unloading;

— the degree of dispersion of objects (cargo handling points) on the site; — soil and
climatic conditions. The working equipment of the cyclic machines is chosen on the
basis of the types of work that need to be mechanized: — for scooping, moving and
unloading bulk and lump materials, tilting buckets with a normal or increased
discharge height should be used, buckets are maxillary and with side unloading; — to
perform warehousing with piece and packaged goods, including lengthy ones, you
need to use various replacement equipment and lifting devices. A large variety of
material handling equipment, which most meets the requirements of mechanization
and automatization of loading and unloading and storage operations, can be classified
according to the main technical and operational characteristics:



Oo0beKT OLlCHUBAaHHUE «3HaHue rpaMmmMaTuaeCKoOro MmarepuaJjiaa»
Tunosblie IrpaMMaTUICCKHUE 3a/ITaHUS:

1 Put the verbs in brackets into the correct infinitive form or the -ing form.

1. It's no use ...talking... (talk) to Bob; he won't change his mind.2.She will (return)
the books next weekend.

3 It was good of you (help) me fix my bicycle.

4 The man suggested (call) the police in, to investigate.5 I can't get used to (live) in
such a hot country.

6.He admitted (rob) the bank.

7You had better (hurry), or you'll be late for work. 8 They refused (give) me my
money back.

9 She is too short (become) a fashion model.

2 Put the verbs in brackets into the correct infinitive form or the -ing form.

1 A: Is Anne in the room?

B: Yes. I can see her ...dancing... (dance) with her husband over there.2 A: Did you
see the robber?

B: Yes. I saw him (get) into the car and drive away. 3 A: Is John here today?B: Yes.
I heard him (talk) on the phone as I walked past his office. 4 A: Colin is good at
speaking in public, isn't he?

B: Yes. I heard him...... (make) a speech last month. It was excellent. 5 A: I walked
past the sports centre today.

B: So did I, and I stopped for a moment to watch some boys...... (play) football. 6
A: Your hair looks great today.

B: Thanks. I watched the hairdresser...... (dry) it so I could learn how to do it
myself.6.A: That's a music school, isn't it?

B: That's right. I often hear the students......... (sing) as I walk past.A: Did you stay
until the end of the contest?

B: Yes. I listened to the chairman (announce) the results before I went home. 9 A:
How do you know Tim is at home?

B: I saw him (cut) the grass as I was driving home. 10 A: How do you know that
man stole the watch ?

B: I saw him (put) it in his pocket and leave the shop without paying

3. Put the verbs in brackets into the correct infinitive form or the -ing form.

My neighbour, Mr Mason, loves 1) ...spending... (spend) time in his garden. He
would rather 2)(work) outside than stay indoors, even when it is snowing! Early in
the morning, you

can 3)........ (see) Mr Mason 4)...... (eat) breakfast in his garden, and late at night
he is there again, with a cup of cocoa in his hand. I'd like 5) (help) sometimes when

there is lots of

work to do, but Mr Mason prefers 6)... (do) everything himself. He doesn't mind 7)
....(get) cold and wet in the winter, and his wife says it's no use 8) (try) to make him
wear a waterproof jacket because he hates 9).. I (wear) them! Mr Mason says he will



go
on 10).... (garden) until he is too old 11)...... (do) it!

4. Put the verbs in brackets into the correct infinitive form or the -ing form.

1 Idon't know what 1) ...to do... (do) at the weekend. I fancy 2) (go) to the
cinema, but

none of my friends enjoy 3).... (watch) films very much.

2 Paul had his driving test today. He tried 1)  (not/make) any mistakes, but he
failed. He expects 2) (pass) the test the next time he takes it.

3 Tom often goes 1) (walk) at the weekends. He doesn't like 2)......

(take) anyone with him because he prefers 3) (be) alone while he walks.

4 We had better 1) (hurry) home tonight because our parents have promised 2)

(take) us outfor dinner. I don't know why they want.... 3) (eat) out, but we must 4)
(arrive) home on

time.

5 James is rich and can afford 1) ...(buy)expensive things. He is always willing 2)
(lend) money to people who need it, because he

enjoys 3) (help) others.

6 My parents let me 1) ...... (stay) at my friend's house last weekend. They agreed
...... 2)(take) me in the car and they made me 3) (promise) to behave myself. It
was a great

weekend!

5. Put the verbs in brackets into the correct infinitive form or the -ing form

Dear Jessica,

How are you? I'm busy 1) ...studying  (study) for my exam which is next week,
but I've

decided 2) ...... (take) a break and 3)...... (write) you a letter. 4) ....(read) so many
notes and 5).... (learn) so many facts is making me very tired. I can't wait 6) ......
(finish) my course! Then, I can start 7) (look) for a good job.Sophie started her
new job last month.

8) e (work) at the hospital suits her — she loves

9)..... (look) after people. She hopes 10).... (stay) in this job for a couple of years
and then she intends 11)  (try) for a promotion.

By the way, how are you getting on now that you are a manager? I forgot ....

12) (congratulate) you when I saw you. Anyway, I've got to go now. Write soon and
tell me allyour news, won't you? Best Wishes, Maggi

Tema 12. MHCTPYKIIMM MO TeXHHKe 0€30IACHOCTH NMPH PEMOHTE U BOXKIACHHUU

CeJILCKOXO03AMCTBEHHOW TEXHUKH.
ITepeBoa 1 aHHOTHPBAHKUE AYyTEHTUYHOTO TEKCTOBOI'O MaTepuaia.



I'pammatnueckue ynpaxkHeHus: Ha oOpa3oBaHue U ynorpedieHue « [lpudactus 1 u
2.

O0bekT onlennBanus «I[lepeBo ayTeHTUYHOI 0 TEKCTOBOI0 MaTepuaJia »
Tunosoe 3a1aHue: NepeBeINTEe TEKCT HA PYCCKUI A3BIK

If you're about to fix your car, make sure you stick to certain safety rules to not only

protect your beloved wheels but also your own safety! Check the tips below!

Repairing a car may seem an easy task to you especially when you have this
magical

hand. You may also be a renowned car expert and have lots of people trooping into
your workshop daily because of your skills in proffering solution to any kind of
mechanical problem. Do not forget that despite all these, it is very important for you
to understand the safety procedure to avert mishap or any unfortunate occurrence
right at your workshop that will cut short your illustrious career.

These rules also apply to those who intend to repair their vehicles at their homes.
Naijauto — your No.l automobile portal in Nigeria has identified 10 simple rules
that will you keep safe every time you start working on a vehicle.

10 simple safety rules when repairing a car

1. You do not want to smoke while working on a car. It is wrong and such practice
should bestopped to avoid explosion or any other form of mishap.

2. Make sure you check the wheels of the car you are operating on for lock before
you embarkon lifting the car up by jack.

3. Do not work on hot engine. It will burn any part of your body that touches it.
Ensure thatthe engine has cooled off before working on it.

4. You can only leave the engine running only when necessary. Otherwise, you need
to poweroff the engine and put your gear at neutral or park position.

Wearing gloves while working on a car is essential for your safety
5. To avoid electrical shock, make sure you use insulated tools to work on
electricalcomponents.

6. Dress appropriately for repair. This means you should not be wearing ring,
necklaces orother body accessories while working on a car.

7. Protect your body from exposure to toxic chemicals such as coolant. If possible
wear facemask or goggle to protect sensitive places in your body.

8. In case of minor fire outbreak, having your fire extinguisher will quickly
help in cutshorting any form of escalation or fire outbreak.Make sure your garage is
well ventilated. This implies allowing sufficient air to gain accessto your workshop.
If there need for you to open window to do, please do not hesitate.

9. Always have your first aid kit handy at your workshop in case of minor injury.



OO0bekT oueHUBaHNe «3HAHUE TPAMMATHYECKOI0 MaTepuasiay
TunoBble rpaMMaTHYECKUE 3a]aHUS:
IlepeBecTH HA PYCCKUI SI3BIK.
1. A letter sent from St. Petersburg today will be in Moscow tomorrow. He saw
some people in the post office sending telegrams.
When sending the telegram, she forgot to write her name.
2. Some of questions put to the lecturer yesterday were very important. The girl
putting the book on the shelf is the new librarian.
While putting the eggs into the basket, she broke one of them.
3. A fish taken out of the water cannot live.
A person taking a sunbath must be very careful.
Having taken a dictionary, he began to translate the text.
4. A line seen though this crystal looks double.
A teacher seeing a mistake in a student’s dictation always corrects it. Seeing clouds
of smoke over the house, the girl cried: “Fire!”
5. The word said by the student was not correct.
The man standing at the door f the train carriage and saying goodbye to his friends
is a well-known musician.
Standing at the window, she was waving her hand.
6. A word spoken in time may have important results.
The student speaking good English must help their classmates. The speaking doll
interested the child very much.
While speaking to nick some days ago, I forgot to ask him about his sister.
IlepeBecTH HA AaHTIUWCKHUM S3BIK.
7. TPUHOCAIIWHN; TPUHECCHHBIN; TPUHOCS; TPUHECS; TPUHOCUMBIN, Oymaydn
MIPUHECEHHBIM;
8. TIEepeBOJSIINI; MEPEeBEACHHBIN; TIEPEBOIS; TIEPEBEIs; MEPEBOIUMBIN; Oyaydn
TIEPEBEICHHBIM;
9. ArOIIUH; TaHHBIN; JaBas; 1aB; 1aBacMblil; Oy yud JaHHBIM;
10. menaronIuii; CACIaHHbBIN; Jeast; C/IeIaB; IeJaeMblii; Oy Iy4H clleJTaHHbIMU;
11. TOBOPSAIINIA; CKa3aHHBIN; TOBOPS; CKa3aB; Oy IydH CKa3aHHBIM; POU3HOCUMOE;
12. UrparouIrii; CBIrPaHHbIN; UTpasi; ChITPaB; UTPAIOIIUICS; OyAYUH ChITPAaHHBIM;
BriOpate Hy)XkHYIO dopmy riarona.a) We listened to the girls (singing, sung)
Russian folk songs.
b) We listened to the Russian folk songs (singing, sung) by the girls.
1. a) The girl (washing, washed) the floor is my sister.
b) The floor (washing washed) by Helen looked very clean.
2. a) Who is that boy (doing, done) his homework?
b) The exercise (doing, done) by the pupils were easy.
3. a) The house (surrounding, surrounded) by tall trees is very beautiful.
b) The wall (surrounding, surrounded) the house was very high.
4. a) The girl (writing, written) is our best pupil.
b) Everything (writing, written) here is quite right.
5. a)Read the (translating, translated) sentences one more.




b) The pupils (translating, translated) a very difficult text are tired.
BeraButh npuyacrus B HYKHOM hopme.

13. JleBouka, 30Bym1ast MeHsi, Most cectpa.The girl ... me is my sister.

14. OH CMOTpEI Ha )KCHIUHY, CUAAIIYIo 3a ctojioMm. He looked at the woman ... at
the table.

15. Tekct, mepeBeCHHBIN YICHUKOM, - Jerkuit. The text ... by the pupil is easy.

16. Vs B KOy, s1 BCTPETUII JSATIO.

... to school, I met my uncle.

17. Onu yBugenu Oerymux cnoprcmeHoB. They saw ... sportsmen.

18. Hamucap nucsMo, OH Molies Ha padoTy.

... the letter, he went to work.

19. OH cros, cmotps urpy.He stood ... the game.

20. 3aKOHYMB padOTy, OH MOIIEI TOMOK.

... the work, he went home.

21. YxoJs Ha paboTy, OH 3a0bLII CYMKY.

... for work, he forgot to take his bag.

22. DTO cTaThs, ONUCKIBAIONIAs IMOJUTHYECKHE coObITHd. This is an article ... the
political events.

IlocTaBuTh IJ1aroJbl B HY:kHOU ¢opme Present Participle \ Perfect Participle.
23. (to live) in the south of our country, he can not enjoy the beauty of Moscow.

24. (to read) the story, she closed the book and put it on the shelf.

25. (to buy) some fruit and cakes, we went home.

26. (to sit) near the fire, he felt very warm.

27. (to sell) fruit, he looked back from time to time, hoping to see his friends.

28. (to sell) his fruit, he went to see his friends.

29. (to write) out and (to learn) all the new words, he was able to translate the text
easily.

30. (to look) through some magazines, I came across an interesting article about
UFOs.

31. (to do) homework he was thinking hard.

32. (to do) homework he went for a work.

Tema 13. 51 xouy ObITH TEXHMKOM . ['paMMaTMyecKue YIPaKHEHHS Ha
ynoTpeOeHne repyH .

[TpoBepka u OlleHKa AMATOTHYECKOTO BBICKA3bIBAHUS MO TeMe «Mosl mpodeccust -
ABTOMEXaHUK.

O0bekT ouneHuBanuss «3HaHUEe TPAMMATHKH M ee IMPaKTHYeCcKoe
HCI0JIL30BaAHUE)

TunoBoe 3aganme 1. IlepeBeauTe mpenioKeHHs, coAepsKalue repyHauii (B
¢popmelndefinite Active) B posin noaiiexamiero. llomaure, 4To mocJie repyHaus
MOZKeT MCMOJIb30BATHCS NMPsSIMoe 1onoiHeHue (0e3 mpeaJsioral).

1. Using the word was his mistake. 2. Making a decision is a complex process. 3.
Considering these problems took us much time. 4. Learning without thought is



labour lost, thought without learning is perilous (Confucius). 5. Having access to the
code was symbolic.

6. Beating a child will do more harm than good. 7. Trying to minimize the
importance of thediscovery was of no use.

2. Omnpepenure (¢ NOMOIIBLI 3aMeHbl OeCHPEVIOKHBIX COYETAHUH
NpeJIOKHBIMH WM MOA00pPa JIEKCMYECKOr0 3HAYeHHMs CJI0Ba), SIBJISIETCHA JIU
ing-popma repyHauemM WIMNPUYACTHEM, HJIH U TeM U T€M OJTHOBPEMEHHO.

A heating system, the blowing wind, building materials, a training machine, a
shining star,the blowing machine, a writing table, living conditions, a freezing point,
a reading lamp, a searching process, a planning stage, a planning office.

3. IlepeBeauTe mnpenioKeHusi, yAeasisds 0co000e¢ BHHMAaHHE IePYHAUI0 B POJIH
onpeeJIeHusl.

1. Life is an art of drawing sufficient conclusions from insufficient premises (S.
Butler). 2. They established a committee for the purpose of considering the
nomenclature. 3. A searchingperiod is an important stage in the process. 4. Stage 1
includes the process of selecting the task. 5. The planning stage is the most
important one.

4. IlepeBenure mnpeasioKeHHs], BbIIeJSA T'ePYHIAMii B PoJiM 00CTOATEJIbCTBA.
Oco0oeBHUMAaHUeE y1e/siiiTe PeJI0ram.

1. Be slow in choosing a friend, slower in changing him. 2. Do not do anything
without thinking. 3. Know your own faults before blaming others for theirs. 4. Learn
by doing. 5. You cannot make an omelet without breaking eggs. 6. He spoke while
watching his opponents. 7. Appetite comes with eating. 8. Upon switching off the
current the pressure dropped. 9. Oncoming home I have a rest. 10. We grow mature
through training. 11. You should check theoil before starting the car.

5. IlepeBenuTe mnpeasiokKeHHs], yaeJsisi 0co00e BHHMAHHMEe TePYHIMI0O B POJIH
MO/JIeXKAIIEro, onpe/e/eHusi U 00CTOSITeIbCTBA.

1. The secret of being tiresome (HamgOeIIUBBIA, yTOMUTEIBHBIN) is in telling
everything (F. Voltaire). 2. Life is a matter of making wise choices — of knowing
when to draw the line. 3. He died without leaving either a personal or a political
will. 4. Search theory is potentially applicable to any sort of searching process. 5.
They were against postponing the meeting and for going on with the discussion of
this problem. 6. We were all for starting the experiment at once. 7. They answered
the question in part by studying the behavior of the optimal strategy.

8. We modified the plan while retaining its main goal. 9. They stopped the
experiment without examining the results. 10. Building a new model may well be
desirable. 11. Doing soremoved the possibility of disappointment.

6. IlepeBennTe HA AHTJIMHCKHIA.

1. Mbl mpumeM (Kakoe-TO) pelieHue IMOcie W3MEHeHus ImiaHa. 2. Mer Oynem
UCIIONIb30BaTh 3Ty MH(OpPMAIMIO TMPU MpPOBEpKe Hamiedl mnporpamMmbl. 3. OHHU
OCYILECTBUIM ATOT MPOILIECC, UCMHOJB3Yys (C MOMONILI0 HMCIIOJIb30BAHUS) HOBBIN



meton. 4. Mbl Obun 3a oOcCyXJeHue 3Toi mpobiembl. 5. OHU OynyT HPOTHUB
opraHu3anyy (yCTaHOBJIEHHSA) 3TOro kKomutrera. 6. Mbl NOJy4YHSIM XOpPOIIHE
pE3yNbTaThl, HE HAYMHASI HOBOW CEPUU SKCIIEPUMEHTOB

O0bekT onnenuBanus «I'oBopeHue u ayJupoBaHue»

Tunosble 3a1aHUA:

1. Bocipou3Beaure MuHu 1uaaoru. CocraBbTe CBOU COOCTBEHHbIC U BHIYYHTE
HAU3YCTh.

At a Garage — 1

Could you book me in for a full service, please?

—  Certainly, madam. I just need to know the year and model.

— Ican’t remember the year but it’s a “D” registration.

— I think I can fit you in first thing tomorrow morning.

— That’d suit me fine. And while you’ve got it, could you have a look at the brakes
as well?

- Yes, we always check everything thoroughly.
At a Garage —2

— I’d like to arrange to have my car serviced.

-~ Yes, of course. Which year and model is it?

— It’s a 1986 model — the smallest one in the range.

—  How would next Friday afternoon suit you?

— That’d be perfect. And could you also try to improve the starting?

— Yes, we’ll do that as a matter of course.

At a Garage — 3

—  Could you book my car in for a service? It’s well overdue.

— That’s no problem. Can you tell me the year and model?

— It’s a 500 series — and it’s less than a year old.

— Can you bring it in on Thursday?

— That should be OK. And perhaps you could see to the clutch — it keeps slipping.

—  Yes, I’ll make a special note of it.

At a Garage — 4

— My car needs servicing. Can I get it done here?

— Yes, I think we can help you. Which year and model, please?

— It’s last year’s model — the estate version.

— How about next Wednesday morning?

— That’s fine. And at the same time, could you do something about the sunroof? It
lets the rainin.

— Yes, we’ll do that for you.

Hiringa Car—1

— How much is it to rent a large estate car?
— £24 adayor £135 a week.

— Will I be able to have one next weekend?
— Have you got a current licence?



— Yes, I’ve been driving since I was eighteen.
— Good. All you do now is complete this form.

Hiring a Car — 2

— What’s the rate for one of your medium-sized vans?

— The daily rate is £23, and the weekly £128.

— Right then. I’d like to book one for next Friday, please.
Is yours a full licence?

— Yes, I’ve had one ever since 1978.

OK. If you’ll just fill up this form, I’1l book you one.

Hiring a Car—3

— Can you tell me the hire charge for minibuses please?

— You can have one for £20 a day, or £138 for a week.

All right. I’ll take one for the week starting Tuesday next.
Is your driving licence valid?

Yes, there’s no problem there.

Fine. We’ll need some particulars and a £25 deposit.

Hiring a Car — 4

— Suppose I wanted to hire a van —how much would il cost?

— £22 per day, £130 per week.

— Fair enough. Reserve me one from the 1st to the 10th, please.
Have you held a licence for over two years?

Yes, here it is.

Right. In that case there’s only a form to till in

IIpome:xyrouyHnas arrecrauus (Aud¢epeHHUPOBAHHDbIN 3a4eT

BUJIET Nel

1.  TlepeBeauTe Ha PYCCKHIl sI3bIK MUKPOTEKCTHI. OOpaTuTe BHUMaHUE Ha
BbIJICJICHHBIETPAMMATHYECKUE CTPYKTYPHI.

Agriculture is an important branch of economy. Economic growth of any
country depends on the development of agriculture which supplies people with
food and clothing and industry with rawmaterials.

The word "agre" is a Latin word. It means the cultivation of fields in order to
grow crops. Now agriculture also includes the use of land to breed
farm animals.

We do not know when people began to grow crops. It was many thousand
years ago. Now crop production and animal husbandry are highly developed
branches of agriculture.

Life is impossible without plants. They play a highly, important role in everyday life
of people. Plantsthat ate grown by farmers are known as farm crops. They are used
for many different purposes.

Most of them are used directly as food for people, some are consumed by farm



animals, others are usedin industry and medicine.

2. Hacrosmee mpocroe u HacTosmiee AnuTenbHoe Bpemsi:Present Simple
and Present Continuous. YHoTpeOUTh HYyX)HO€ BpeMs, apryMEHTHPOBATh
CBOI1 BBIOOD:

1.The river Nile flows/is flowing into the Mediterranean. 2.The boy does/is
doing his homework now. 3. She seldom comes/is coming home so early.
4 Birds fly/are flying to warm countries in autumn.5. Mary takes/is taking a
shower in the morning.

3. Ilepenuiute ¥ TUCBMEHHO TMEpPEBEIUTE  CIEAYIOIIME MPEAJIOKECHUS,
MOIYEPKHUTE HeompeaeeHHble MeCTOMMEHMUS.

1. Some of us agree with the statement.

2. 1 did not see any change in his life.

3. Nobody can help him under the circumstances.

4. Something prevented him from coming.

BUJIET Ne2

1. IlepeBenute Ha PyCCKHM SI3bIK MUKPOTEKCThI. OOpaTuTe BHHMAaHHE Ha
BbIICJICHHBIETPAMMATUYECKUE CTPYKTYPHI.

Crops . For successful production, the land must be prepared (ploughed,
cultivated, harrowed, and rolled), seed must be planted and the growing plants
nurtured. This may involve fertilizers, irrigation, pest control by chemicals, and
monitoring of acidity or nutrients. When the crop has grown, it must be harvested
and, depending on the crop, processed in a variety of ways before it is stored or
sold. Greenhouses allow cultivation of plants in coldclimates. Hydroponics allows
commercial cultivation of crops using nutrient-enriched water instead of soil.
Special methods, such as terracing, may be adopted to allow cultivation in steep
regions and to retain topsoil in mountainous areas with heavy rainfall.

2. Hacrosiimee coBepIIeHHOE M HACTOSIIEE COBEPIICHHOE IJIUTEIHHOE BpEeMS
Present Perfect and Present Perfect Continuous. YnorpeOuth HyKHOE Bpems,
aprymeHTupoBath cBoil BbiOOp: 1.They have planted/have been planting trees since
morning.2.The children have decorated/have been decorating a fir-tree, look, isn't it
nice? 3. Mary is still in the kitchen, she has cleaned/has been cleaning it all
morning.4.Jane has been writing/has written letters all day. 5. Bill has written/has
been writing two poems today.

3. Beibepute mnpuaaratejibHOe B COOTBETCTBYIONICH CTENICHHW CPaBHEHUS.

[TepenumuTe 1 repeBeIUTE NPEITIOKCHNAS HA PYCCKUH SA3BIK.

1. He found the work (easy, easier, the easiest) than he had expected.

2. She was (active, more active, the most active) of us.

3. He felt (bad, worse, the worst) yesterday than the day before.

4. When he had left Paris it was as (cold, colder, the coldest) as in winter there.

BUJIET Ne3
1. [TepeBenuTe HA PYCCKHUI S3BIK MHUKPOTEKCTHI. OOpaTUTe BHUMAaHUE Ha
BBIJICJICHHBIETPAMMATUYECKUE CTPYKTYPHL.



Primary tillage, or plowing, may be done by various kinds of plows, such as two-
way plows, disk plows, rotary plows, etc. The plows may be both tractor-mounted
and tractor-drawn.

Tractor-drawn plows are attached to the tractor by an adjustable hitch which
permits horizontal adjustment of the plow and prevents ''mosing" of plow
points. The hitch incorporates a spring release or some other device which
disconnects the plow when it strikes an obstacle. In some plows each bottom is
held in working position by a heavy spring which permits the bottom to raise and
pass over the obstacle. Tractor-drawn plows are provided with a lifting
mechanism which raises them from or lowers them to their working position.
The lifting mechanism may be either mechanical or hydraulic. There are also!
two levers —one for regulating the depth of plowing, the other for levelling the
plow.

2. Ilpocroe mpomienmiee u mporeaniee aurensHoe Bpemsi:Past Simple and
Past Continuous. YoTpeOUTh HYy>KHO€ BpeMsi, apTyMEHTHUPOBaTh CBOM BBHIOOD:

1.The woman did not see that the girl was looking/looked at her. 2.She was putting
on/put on a sweater while I was talking to the manager.3. I broke/was breaking a
plate last night. 4. Fred was not driving very fast when the accident happened/was
happening. 5. Yesterday I did not see /was not seeing Julia.

3. BcraBbre there’s wiu it’s. Ilepenuminre ¥ nepeBenuTe NMPEIJIOKECHHUS Ha
PYCCKUU SI3BIK.

1. ... abeautiful garden near the house.
2. Where is the cat? ... under the sofa.
3. ... no theatre in that small town.

4. ... hot today.

BUJIET Ne4

1. TlepeBenutre Ha PYCCKHM SI3bIK MHUKPOTEKCThI. OOpaTuTe BHHUMaHHUE Ha
BBIICJICHHBIETPAMMATHYECKUE CTPYKTYPHI.

Potato is a highly important food crop. In addition it is used as livestock feed
and asan industrial crop. Now it is grown in most countries of the world.

Good yields are obtained where growing season temperature is between 16
to 21°C and where the rainfall is 12 to 18 inches (mroitm = 2,5 cM) per year. So,
commercial production is largely limited to die areas where the climate is cool
and moist. Potatoes are known to produce better yields when they are grown
after alfalfa and are planted in the same field only once (ogun pa3s) in six or
seven years.

2. Ilpomrenmiee COBEpPUIEHHOE U TMPOIIEAINIEE COBEPIICHHOE JIITUTEIbHOE
Bpemsi:Past Perfect and Past Perfect Continuous. YnoTpeOuts HyX)HOE Bpems,
apryMeHTUpPOBATh CBOU BBIOOP:

I. T was tired, I had worked/had been working all day. 2. We had been
studying/had studied foreign languages since we became a students. 3.When I
phoned her, she had already gone/had been going.4.They had been finishing/had
finished the experiment by Sunday. 5.He had studied/had been studying the




problem for a few years before e could solve it.

3. [IlepenumuTe ¥ TNHUCBMEHHO TIEPEBEIUTE CICAYIONIME MPEIOKCHUS,
NOYEPKHUTE Heolpe/ieieHHbIe MeCTOMMEHHSI.

1. When arriving in a foreign country one goes through the customs.

2. Speaking on TV the Prime Minister said that the Government would take some
practical steps to increase competition and improve the work of public services
(cpeacTBa 0OIIECTBEHHOTO TPAHCIIOPTA U CBA3H).

3. MP’s proposal (MP—unen mnapmamenta) doesn’t seem to have aroused

anybody’sinterest.
4. She didn’t tell anyone about her secret. Not a person.

BUJIET NeS

1. IlepeBenmutre Ha PYCCKHM S3bIK MHUKpPOTEKCTBHl. OOpaTuTe BHHUMAaHHE Ha
BbIJICJICHHBIETPAMMATUYECKUE CTPYKTYPHI.

Beet crop is one of the most widely grown root crops. There are two main kinds
of beets, sugar beets and table beets. Both of them are best adapted to growing
in the temperate climate.

Table beets are used by people for food when roots are young. At this time they
are rich in protein and minerals.

Sugar beet is an industrial crop. It is high in sugar, up to 20 per cent. There
are some factors which favour the accumulation of sugar in the roots. They are
soil fertility, enough moisture, low temperature.

2. Ilpoctoe Oyaymee u Oynyuiee anurensbHoe BpeMms:Future Simple and Future
Continuous. YoTpeOUTh HY>KHOE BpeMsi, apTyMEHTUPOBAThH CBOM BBIOOP:

1.This time tomorrow we will lie/will be lying on the beach. 2.1 shall give/shall be
giving you an aspirin.3. He will be working/will work on a new play during next
summer.4.They will be still discussing/will still discuss the problem at 11 a.m. 5.1
hope she will have/will be having ajob in 2 years.

3. O6pazyume Participle I unu Participle Il om 2nazonos 6 ckookax.

1. Why have you got that ... (worry) expression on your face? Are you in trouble?
2. The teacher was ... (disappoint) with the test results.

3. Jack’s answer was ... (disappoint).

4. 1 went to the exhibition of French art last week and I was very much ...
(impress).

BUJIET Ne6

1. IlepeBenute Ha PYCCKHM SI3bIK MHUKpPOTEKCThI. (OOpaTuTe BHHMaHUE Ha
BbI/ICTICHHBIETPAMMATHYECKHE CTPYKTYPHI.

Electricity has become highly important in our modern world. It has made our
work easier and our life more comfortable.

In agriculture electricity is being used in many ways. It is especially widely
applied in animal buildings for lighting and for operating different machines such as
barn cleaners, feedconveyers, automatic ventilators and automatic waterers.



Electric energy is more economical than any other forms of energy. Electricity
operated machines save time and labour, increase labour productivity and
improve the quality of work.

2. bynyiee coBepiieHHOE U OyAyliiee COBEPIIEHHOE JIuTeapH0e Bpemsi::Future
Perfect and Future Perfect Continuous. VYmnorpebutrb HyKHOE Bpems,
apryMeHTupoBaTh cBOM BbIOOp: 1.She will have looked /will have been looking
through all papers by the end of the week.2.We shall have translated /shall have
been translating the text by next Monday.3.Next year we shall have studied/shall
have been studying French for three month.4.In half an hour they will have
written/will have been writing a test for two hours.5.The students will have

passed/will have been passing the exams by July.

3. JloctaBbTe cHeAyrONIME CYIIECTBUTEIbHBIE BO MHOKECTBEHHOE YHCIIO
(oOpaTthTe BHUMaHKUE HA apTUKIIU: HEOIPEACIICHHBIN apTUKIIb BO MHOKECTBEHHOM
YHUCJIE OIYyCKAETCs, ONPEACICHHBIN apTUKIb COXPAHSIETCS).

A baby, a plant, a lemon, a peach, a banana, a brush, a star, a mountain, a tree, a
shilling, a king, the waiter, the man, a woman, an eye, a shelf, a box, the city, a
boy, a goose, the watch, a mouse, a dress, a toy, the sheep, a tooth, a child, the ox,
a deer, the life, a tomato.

BUJIET Ne7

1.  TlepeBeaute Ha PyCCKHIl SI3bIK MUKPOTEKCTHl. OOpaTuTe BHUMaHUE Ha
BbIICJICHHBIETPAMMATUYECKUE CTPYKTYPHI.

We know the engine to be the source of power. In some types of engines a V-type
fan belt is utilized to drive the fan, the same belt being used for driving the
generator pulley and the water pump. The engine is known to comprise the fuel,
cooling, electric and lubricating systems. It should be noted that the gasoline pump
is operated from the camshaft by the engine, called also the power plant. To guide
the car means to turn it in one direction or theother

2. Jlpyrue cnocoObl BelpakeHus1 Oyaymiero Bpemenu: Other ways of rendering
future action. BpIMONMHUTE TIEPEBOA TPEIJIOKECHUM, ONPEACTUTh CIOCO0
BBIPAKEHUS:

1.I am going to do this exercise. 2. This train starts in a quarter of an hour.3. The

expedition isarriving in a week.4.They are living in a few days.5.She is about to cry.
3. BcraBbTe NOAXOASAIIAN aPTUKIIb B IIPEIIIOAKECHUS.

1. Bermuda Triangle is located in____Atlantic Ocean.

2. The longest river of the world is Nile River.

3. The lowest lake of the world is Dead Sea, the deepest lake isLake
Baikal,the longest lake is_Tanganyika.

4. Lake Superior is the largest of __ Great Lakes.

BUJIET Ne8

1. TlepeBenute Ha PYCCKUM SI3BIK MUKPOTEKCTHI. OOpaTtuTe BHUMAaHHE Ha
BbIICJICHHBIEIPAMMATUYECKUE CTPYKTYPHI.

Brakes are known to be one of the most important mechanisms of the car. They

are necessary for stopping the car. Most braking systems used today are hydraulic,



many vehicles using power brakes. We know the brakes to be applied to four
wheels. In order to stop the car, the driver should press down on the pedal. When
the pedal is pressed down the brakes are applied and the car is stopped.

2. Mopanehble rnarosbl: modal verbs can and must. YnoTpeOuth Hy>KHBIN
MOJAJIBHBIMIIIAroJl, apryMEHTUPOBATH CBOW BBIOOP:

1.My brother draw simple pictures with his left hand.2. The girl___ speak
English verywell.3. People take care of
nature. 4.You____ prepare the sales report.5. He is very strong, he__run 1500 m

in 5 minutes.

3. IlocTaBbTe TIJIaroiibl, JTaHHbIE B CKOOKax, BO BpEMEHa TpYIIII

Simple (Indefinite) unu Continuous. Ilepenummre U nepesenure

IIPEIOKEHNS] HAPYCCKUU SA3BIK.

1. The police (stop) me on my way home last night.

2. The Smiths have bought a new house. They (move in) at the moment.
3. Your dad (meet) you at the airport. Don’t worry.

4. All the evening yesterday we (listen) to the old records.

BUJIET Ne9

1. TlepeBenuTe Ha PYCCKUM S3bIK MUKPOTEKCTHI. OOpaTWTe BHUMaHUE Ha
BBIICJICHHBIETPAMMATHUYECKHE CTPYKTYPHI.

In order to drive the car, the driver should have some means of turning the front
wheels. We know the steering wheel to be located at the front of the driver. It is
linked by gears and levers to the front wheels, these wheels being on pivots. The
front wheels are known to swing to the

left or right when the steering wheel is turned in one direction or the other. The
front wheels are attached to the rods, the rods are, in turn, attached to the pitman
arm.

2. Mogpanbable raaronsl: modal verbs: ought and might. YnorpeOuTh Hy&HbIi
MOJAJIbHBINTIIAroJl, apryMEHTUPOBATH CBOW BBIOOP:

1.Your purse be in the living-room. 2. You_visit the botanical gardens during
your visit if you want.3._I borrow your pen? 4.He is doing illegal things, we___to
reportto the police.5.The newlyweds have just returned from their honeymoon trip
they to be full of impressions.

3. [locTaBbTe raarossl, JaHHBIC B CKOOKaX, BO BpEMEHa TPYIII

Perfect wm Perfect Continuous. Ilepenummure u nepeBeauTe

IIPEUI0KEHNS] HAPYCCKUU SI3bIK.
1. Some time ago Jill’s hair was short but now it is long. She (grow) it again.
2. Tomorrow the terrorists (hold) the hostages for three days.

3. We were late for the station. The train (start) two minutes before we came.
4. Are you still watching television? You (watch) it since I left for
work in themorning.

BUJIET Nel0
1. IlepeBenutre Ha pycCKUM A3BIK MUKpPOTEKCThl. OOpaTtuTe BHMUMaHHE Ha
BbIJICJICHHBIETPAMMATUYECKUE CTPYKTYPBI.




Hard hand labour has been reduced. Production and income per person

engaged in farming have been markedly increased. Land that was needed to

produce feed for horses is now used for the production of food for people. Farm

work can be done more rapidly when weather and soil conditions are most

favourable. Crops can be planted, cultivated and harvested in a shorter time than

in the past.

Farmers must have more capital to be engaged in farming because of large

investments in farm machines and other equipment. Farmers must have a larger

and more stable incometo have money for electricity and tractor fuel. Farms have to

be larger in size. So, small farms are disappearing and many farmers cannot be

engaged in farming. Farmers must have better knowledge and skill in operating

modern farm equipment efficiently.

2. Mopnanpusie rnarossl: modal verbs: may and should. YnotpeOuTs Hy X HBIi

MOJAJIBHBIUTIIAroJl, apryMEHTUPOBATH CBOW BBIOOP:

1. I ask you a question? 2. I come in? 3.You_focus more on your

family and less on work. 4. When you go to Berlin, you____visit the palaces.5.Jack
be upset. I donot know if he is annoyed or tired.

3. [lepenummmTe 1 IEPEBEANTE NPEITIOKCHUS HA PYCCKHUM S3BIK.

Beimummre #3 KaxA0ro Ijaroj — cKadyemMoe U OIpeAeNuTe  €ro

BUJI0OBpeMeHHYyto(hopmy. Hanumure popmy nHdpuHUTHBA Taarosia.

1. The situation calls for immediate actions.

2. This is the third time Bill has phoned his friend this evening.

3. Parliament resumed the emergency debate last Friday.

4. The introduction of new technologies will promote economic development.

BUJIET Nell

1.  IlepeBeaute Ha PyCCKHil SI3bIK MUKPOTEKCTbl. OOpaTuTe BHUMaHUE Ha
BBIJICJICHHBIEIPAMMATHYECKUE CTPYKTYPHI.

Brakes are known to be used for stopping the car. Most braking systems used
today are hydraulic, many vehicles having power brakes. To stop the car, the
driver should apply the brakes. We know the brakes to have been applied to the
front wheels. At present the brakes are applied to all four wheels. The brakes are
controlled by a pedal. When the driver presses down on the pedal the brakes are
applied and the car is stopped.

2. Mopnanshbie raaronsi: modal verbs: could and need. YnotpeOuth HyKHbIN
MOJAJIbHBINTIIAr0JI, apTyMEHTHUPOBATH CBOW BBHIOOD:

1.You not buy mineral water, we have plenty. 2. I get in touch with the
press? 3. I go with you, I am too tired.4. you do me a favor? 5.She_be
reading

3. IloctaBbTe TMarosbl, MaHHBIE B CKOOKAaxX, BO BpEMEHa TPYIII
Simple (Indefinite) unu Continuous. Ilepenuiure U nepeBenute
MPEJIOKEHUS] HAPYCCKUU A3BIK.

BUWJIET 12.

1.  TlepeBenute Ha PyCCKUU S3BIK MUKPOTEKCTHI. OOpaTuTe BHUMAaHHUE HA
BbIJICJICHHBIETPAMMATUYECKUE CTPYKTYPHI.



The clutch is known to be the part of the power train. Besides the clutch, the power
train also includes the gearbox, propeller shaft, rear axle, final drive, differential
and axle shafts. The gearbox named transmission is located between the clutch
and the propeller shaft. We know the clutch to consist of the driven plate and the
pressure plate, the driven plate having fabric linings on each side. To connect
the engine with the gearbox, the driver shouldengage the clutch.

2. Mopaneubeie Tiaroisl: modal verbs: shall and to be to.YmorpeOuts
HY>KHBI MOJAJIbHBINTIIAr0JI, apTyMEHTUPOBATH CBOW BBIOOP:

1.1t 1s too crowded here, we go to the park? 2.Where is he found? 3.__ 1  help
you? 4. The chief says I am__in charge of the programme.5. You be punished for
thebroken vase.

3. [locTaBbTe raarojsl, JaHHbIE B CKOOKaX, BO BpEMEHa IPyIII

Perfect wm Perfect Continuous. Ilepenuimure u mnepeBeAuTe
MIPEIOKEHNS] HAPYCCKUU SA3BIK.

1. George smokes. He (smoke) for five years.

2. They already (paint) the walls in their flat.

3. The builder says he (finish) the roof by next week.

4. When I got to the car park I realised that I (lose) my keys.

BUJIET Nel3

1.  IlepeBeaute Ha pyCCKHl SI3bIK MUKPOTEKCTbl. OOpaTuTe BHUMaHUE Ha
BBIICJICHHBIETPAMMATHUUECKHE CTPYKTYPHI.

Mechanization and application of other scientific developments to farming
have increased the output per farm worker. Hand labour required for farming
has markedly decreased while the production per person has increased.

The increase in production is greater in crop farming than in livestock
breeding because crop production has been mechanized to a greater extent® than
in livestock production.

About 50 years ago 27 per cent of the total population of the country was
engaged in agriculture, now the employment in this sector of the economy is
about 2.5%.

In 1955 labour made up 32 per cent of the cost of farming; by 1980 it only 3.1
per cent. The machinery cost in farming, on the other hand, has continued to
increase.

The organization of agriculture in the years to come will use less land, lees
labour, fewer but better managers and much more capital, machines and various
types of technology. These trends have been in progress for decades and it is
unlikely? that there will be any change from this direction.

2. Mogansabie raaronsi: modal verbs: would and dare. YnorpeOuTs Hy>KHBIH
MOJIaJIbHBIATIIAr0J1, apTyMEHTHUPOBATH CBOW BHIOOD:

1.How he tell me what to do? 2.She_not to contradict me.3.___you open
awindow, please? 4.1___you to say this in his presence. 5._ you like tea or
coffee?

3. [lepenummTe U NepeBeAUTE NPEITIOKEHUS HA PYCCKUM A3BIK.



BeimummTe W3 Kaxgoro rjaroJg  — CKazyemMoe u OIpecaAcCInTe C€Io

BUJI0BpeMeHHytohopmy. Hanumure dopmy nndunuTHBA TIaroia.
1. It’sraining again. Take your umbrella.

2. My mother always forgets my birthday.

3. Tamsure Andrew will come to see us this evening.

4. Iknew that he was waiting for somebody.

BUJIET Nel4
1.  IlepeBeaute Ha pPyCCKHl SI3bIK MUKPOTEKCTBl. OOpaTuTe BHUMaHUE Ha
BBIJICJICHHBIETPAMMATUYECKUE CTPYKTYPBI.

The tractor industry in our country is highly developed. Many different types
of tractors are being produced for doing various agricultural practices on soils,
including the K-701 wheeled tractor powered by a 300 horse power engine the T-
150 crawler tractor, MTZ

— 80 wheeled tractor and many others. These tractors are used with different
mounted and trailed farm machines for plowing, cultivating, harrowing,
sowing and harvesting agricultural crops.

At present millions of tractors are working in the fields of the state and collective
farms. With the modern Soviet tractors all the main field operations have been fully
mechanized in our country.

2. Crpanarenshbiii 3amor: The Passive Voice. [loctaBbTe npeasioxkeHus B
CTpaJaTeIbHbIN3aJIOr:

1.They promised the children many new toys. 2. I have already sent a telegram to
my mother.

3. He wrote many letters to his wife. 4. They will give her a part in a new play.
5.My sistertaught me cooking and housekeeping

3. Broibepute HyxHylo ¢opmy riarona to be. Ilepenummre u nepeBenute
MIPEIOKEHNS HA PYCCKUH S3BIK.

1. Jane (will be, was, is) at home at the moment.

2. Where (are, was, were) you at 11 o’clock last Friday morning?

3. They (are, will be, were) engineers in 5 years.

4. Books (will be, were, are) expensive nowadays.

BUJIET NelS

1.  TlepeBeaute Ha PYCCKHIl SI3bIK MUKPOTEKCTHl. OOpaTuTe BHUMaHUE Ha
BBIICIICHHBIETPAMMATHUECKUE CTPYKTYPHI.

It is known that the need for more food, feed and industrial crops ' regularly
grows. Farmers usually meet these ever increasing demands by increasing crop
yields. This largely depends on the quantity and quality of the machinery
supplied by tractor and agricultural engineering industry. The most
important machine used on farms is the tractor. The heart of the tractor is its
power unit, that is, the engine.

The main trend adopted in designing new tractors and other farm machinery is as
follows:



— to increase the capacity of the engine, mainly

byincreasing its power and field speed;

— to improve the design of transmission, chassis

andthe engine;

—to reduce fuel consumption and maintenance time;

2 I'epynauit The gerund. Mcnionb3yiiTe repyHAauii 1uist T1aroja B CKOOKax:

1.Your hair is very long. It needs(cut). 2.The house looks shabby. It wants (repair).
3.His answer is very good, he deserves(praise). 4. The fence looks dull. It needs
(paint).5. His remark is witty. It is worth(quote).

3. IloctaBwTe rarofel, JaHHbIE B CKOOKax, BO BpeMeHa rpymn Simple (Indefinite)

win Continuous. [lepenuimure u nepeBeauTe MpeasioKeHUS] HAPYCCKUN A3BIK.
1. The kettle (boil). Can you turn it off, please?

2. Water (boil) at 100 degrees Celsius.

3. The police (stop) him on his way home last night.

4. The sky is black. I think it (rain).

BUJIET Nel6

1.  IlepeBeauTe Ha PYyCCKUM SI3bIK MUKPOTEKCThI. OOpaTUTE BHUMaHUE HA
BbIICJICHHBIETPAMMATUYECKUE CTPYKTYPHI.

The automobile is known to consist of the engine, the body and the chassis, the
engine being the source of power. The body has a hood and lenders and
accessories: heater, lights and radio. It should provide protection to the passengers
from wind and rain. The chassis is known to

include the power train, frame and wheels. Streamlining is an important factor.
To streamline a car means to shape it in such a manner that it offers small
resistance to the air.

2.  Brolbepute mnpuiaarateibHOe B COOTBETCTBYIOIIEH CTENEHHW CpPaBHEHMS.
[lepenuinTre ¥ nepeBeaUTE MPEIIOKEHNUS HA PYCCKUU SI3BIK.

1. It’s (easy, easier, the easiest) to phone than to write a letter.

2. Sydney is (large, larger, the largest) city in Australia.

3. Money is important, but it isn’t (important, more important, the most
important)thing in life.

4. Ttaly has (old, older, the oldest) population in the world.

3.IlocTaBbTe 71aroibl, JaHHBIE B CKOOKaX, BO BpeMEHa rpyIIi

Perfect wm Perfect Continuous. Ilepenummure U nepeBeauTe

IIPEUI0KEHNS] HAPYCCKUU SI3BIK.

1. Tom (smoke) ten cigarettes today.
2. Ron (study) very much this term.
3. It (snow) for two hours.

4. He (play) chess since he was eight

Kpurepuu oieHNBAHUS OTBETOB:

- OueHka «5» (OTJIMYHO) CTaBUTCS, €CIM OOyYarOLIMKACs MOKa3al MOJHOE 3HAHUE U
MOHMMAaHUE BCEro MaTepuaia, CMOI COCTaBUTH IOJHBIM M TMPaBWIBHBIM OTBET,
chopMyJIMpOBaJI TOYHOE OMNPEACTICHUE M MCTOJKOBAHHWE OCHOBHBIX TIOHSTHUH,
apTyYMEHTHPOBAHO YTBEPKJIaJl CYKJICHHE.




- Omenka «4» (XOpoIIoO) CTaBUTCS, €CIM OOYYAIOIIMICS TIOKa3ajl 3HAHHUS BCETO
M3YyYEHHOI'0 MPOrpaMMHOTO Marepuana. [lam monHbIM U NPAaBUWIIBHBIM OTBET Ha
OCHOBE M3YUYEHHBIX TEOPUH; OMYCTUI HE3HAYUTEIbHBIC OIIMOKKA W HEJAOYETHI MPHU
BOCIIPOM3BEECHNN U3yYEHHOTO MaTepuraa.

- Onenka «3» (OUEHKAa) CTaBUTCA, €CJIU OOYYAIOIIMICS YCBOMJI OCHOBHOE
coJiepkaHue y4yeOHOro marepuaina, UMeeT NpoOesibl B YCBOGHUM MaTepuala, He
MPEMATCTBYIOIIME AalbHEUIIIEMY YCBOECHUIO MPOrPaMMHOIO MaTepHalia; MaTepuanl
U3JlaraeT He CUCTEeMAaTU3MPOBaHoO, (hparMeHTapHO, HE BCEr/ia MOCJeI0BaTEIbHO.

- OueHka «2» (HeyJOBIETBOPUTEIBHO) CTABUTCS, €CIIM O0YYaIOLIUICA HE YCBOWI U
HE pacKpbUl OCHOBHOE COJIEpKaHUE MaTepuasa; He JenaeT BBIBOAOB U 000OIIEHU.
He 3Haer ¥ He MOHMMAET 3HAYUTEIBHYIO WJIM OCHOBHYIO YacTh MPOrPAMMHOIO
Marepuaia B MpeAeNax IOCTaBJIEHHBIX BOMPOCOB WM UMeEeT  ciado
c(hOpMUPOBAaHHBIC W HEMOJHBbIC 3HAHUSI U HE YMEET MPUMEHSTh UX K PEIICHUIO
KOHKPETHBIX BOIIPOCOB.
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